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[3969]-301

T.Y. B.Com. EXAMINATION, 2011

BUSINESS REGULATORY FRAMEWORK (M. Law)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define ‘Contract’. Explain essential elements of a contract. [16]

2. Elaborate the concept of ‘Condition’ in a contract of sale of goods.

Explain implied conditions in sale. [16]

Or

State and explain the rights and duties of Bailor.

3. (A) Explain in brief composition and functions of Consumer Protection

Councils. [8]

(B) Define and explain the concept of patent. [8]

Or

(A) State the provisions relating to Notice of Dishonour of Negotiable

Instrument.

(B) Elucidate the provisions regarding conciliation proceedings under

the Arbitration and Conciliation Act, 1996.

4. What is an ‘Endorsement’ ? Discuss different kinds of endorsements

on negotiable instrument. [16]

P.T.O.
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5. Write short notes on (any two) : [16]

(a) Unlawful objects and considerations

(b) Significance and advantages of E-commerce

(c) Rights of Design Holder

(d) Salient features of Consumer Protection Act, 1986.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. ^djkjkph* O;k[;k |k- djkjkph oSfðk"VÓs@«{k.ks Li"V djk- [16]

2. ek« foÿh djkjkrh« ^izew[k vVha*ph ladYiuk Li"V d:u foÿh djkjkrh« izew[k

x`ghr vVh foðkn djk- [16]

fdaok

fu{ksinkR;kps gDd o drZO;s lkaxwu Li"V djk-

3. (v) xzkgd laj{k.k ifj"knkaph jpuk o dk;sZ FkksMD;kr Li"V djk- [8]

(c) isVaVph O;k[;k ns≈u ladYiuk foðkn djk- [8]

fdaok

(v) p«u{ke nLr,sotkP;k vuknjkP;k lwpuslaca/khP;k rjrqnh lkaxk-

(c) e/;LFkh o l«ks[kk dk;nk] 1996 varxZr le>ksrk dk;Ziºrh fo"k;hP;k rjrqnh

lkaxk-

4. i`"Bkadu Eg.kts dk; \ p«u{ke nLr,sotkaph i`"BkadukP;k fofo/k izdkjkaph ppkZ

djk- [16]
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5. laf{kIr Vhik f«gk (dks.kR;kgh nksu) % [16]

(v) csdk;nsðkhj mfÌ"VÓs vkf.k izfrQ«s

(c) bZ&dkWelZps egRo vkf.k Qk;ns

(d) fM>kbZu /kkjdkps vf/kdkj

(M) xzkgd laj{k.k dk;|k 1986ph izew[k oSfðk"VÓs-
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[3969]-302

T.Y. B.Com. EXAMINATION, 2011

ADVANCED ACCOUNTING

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. (A) Answer in one sentence only (any five) : [10]

(i) Which section of Banking Regulation Act provides for

preparation of Bank’s final account in prescribed

forms ?

(ii) What are the insured standing charges ?

(iii) Accounting Standard 3 stands for what ?

(iv) Give the formula to calculate ‘Debts to Equity Ratio’.

(v) Consumption of farmer is debited to which account ?

(vi) The closing balance on ‘Goods sent to Branch Account’

is transferred to which account ?

(vii) Excess of assets over liabilities are what ?

(B) Write short notes on (any two) : [14]

(i) Accounting Standard 15

(ii) Short sales

(iii) Allocation of expenses in Departmental Account

(iv) Difference between Financial Accounting and Management

Accounting.

(v) Operating Ratio.

P.T.O.
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2. The following is the Trial Balance of Vidya Bank Ltd. as on

31-3-2011 : [14]

Particulars                    Dr.        Cr.

Capital —... 5,00,000

Reserve Fund —... 2,50,000

Loans, cash credit, overdraft 2,85,000 —...

Premises 61,000 —...

Indian Govt. Securities 4,00,000 —...

Current Deposits —... 1,00,000

Fixed Deposits —... 1,25,000

Savings Bank Deposits —... 50,000

Salaries 28,000 —...

General Expenses 27,400 —...

Rent & Taxes 2,300 —...

Director Fees 1,800 —...

Profit & Loss A/c on 1-4-2010 —... 16,000

Interest and Discount —... 1,28,000

Stock of stationery 8,500 —...

Bills purchased and discounted 46,000 —...

Interim Dividend paid 17,000 —...

Recurring deposits —... 31,000

Investment in shares 50,000 —...

Cash in hand & with R.B.I. 1,93,000 —...

Money at call & short notice 80,000 —...

12,00,000 12,00,000
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Adjustments :

(1) Provision for Bad and Doubtful debts is required to be made

at Rs. 5,000.

(2) Interest accrued on investment is Rs. 8,000.

(3) Unexpired discount amounted to Rs. 380.

(4) Interim dividend declared is 4% actual.

(5) Market value of Indian Govt. Securities are Rs. 3,90,000.

(6) Rs. 10,000 are added to the premises during the year. Depreciation

at 5% on the opening balance is required.

You are required to prepare Profit & Loss A/c for the year ended

31-3-2011 and the Balance Sheet as on that date with necessary

working in the prescribed schedules.

Or

On 1-4-2010 X Ltd. of Bombay purchased cum interest at Rs. 98,

Rs. 10,000, 6% debentures of Y Ltd. and expenses incurred were

Rs. 500. The interest is payable on 30th June and 31st Dec. every

year.

On 1-6-2010, the company sold ex-interest at Rs. 102, Rs. 3,000

debentures and expenses incurred being Rs. 200.

On 1-10-2010 the company again sold cum interest at Rs. 101,

Rs. 4,000 debentures and the expenses were Rs. 100.

On 1-2-2011 the company purchased ex-interest Rs. 5,000, debentures

at Rs. 104, the expenses being Rs. 300.

Brokerage at 30 paise per hundred rupees was paid on both purchases

and sales besides the expenses noted above.

Prepare the 6% Debentures Account in the books of X Ltd. closing

it on 31-3-2011 by FIFO method. [14]
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3. (A) A fire occurred in the premises of M/s Gokhale & Co. on

15th Oct. 2010. From the following details ascertain the loss

of stock and prepare a claim for insurance : [8]

                              Rs.

Stock on 1-4-2009  68,000

Purchases from 1-4-2009 to 31-3-2010 2,44,000

Sales from 1-4-2009 to 31-3-2010 3,60,000

Stock on 31-3-2010 60,000

Purchases from 1-4-2010 to 14-10-2010 2,94,000

Sales from 1-4-2010 to 14-10-2010 3,00,000

The stock salvaged was worth Rs. 36,000. The amount of policy

was Rs. 1,26,000. There was an average clause in the

policy.

(B) From the following Trading & Profit & Loss A/c and Balance

Sheet, calculate : [14]

(i) Current ratio

(ii) Acid test ratio

(iii) Stock turnover ratio

(iv) Gross profit ratio

(v) Debtors turnover ratio

(vi) Net profit ratio

Trading A/c for the year ended 31-3-2011 :

To opening stock 90,000 By sales

To purchases 60,000  Credit 1,08,000

To wages 2,000  Cash  12,000 1,20,000

To gross profit 40,000 By closing stock 72,000

1,92,000 1,92,000
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Profit & Loss A/c for the year ended 31-3-2011 :

To operating expenses By Gross profit 40,000

Selling & Distribution 12,000

Administrative 6,000

Financial 2,000

To Net profit 20,000

40,000 40,000

Balance Sheet as at 31-3-2011 :

Share capital 90,000 Land & Building 50,000

Reserves 20,000 Plant & Machinery 10,000

Profit & Loss A/c 25,000 Stock in Trade 72,000

Loans 10,000 Debtors 20,000

Bank overdraft 25,000 Bills receivables 10,000

Creditors 13,000 Cash at Bank 8,000

Bills payable 4,000 Cash in hand 17,000

1,87,000 1,87,000

4. From the following Trial Balance of Shri Shivaji Sahebrao Mane

of Hanumantwadi, prepare Crop A/c, Livestock A/c and Profit &

Loss A/c for the year ended 31-3-2011 and the Balance Sheet as

on that date : [20]

   Particulars            Debit        Credit

Stock on 1-4-2010 : (Rs.) (Rs.)

Crop and Fertilizer 40,000

Cattle 30,000

Sheep 10,000

Crop in process 16,000

Capital —... 15,80,000
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Purchases :

Seeds and fertilizer 6,000

Pesticides 2,000

Cattle 36,000

Sheep 8,000

Cattle feed 8,000

Farm wages 16,000

Irrigation charges 2,000

Repairs to farm implements 2,000

Expenses on bullocks 4,000

Loan from Shahu Bank —... 3,00,000

Loan from State Bank —... 80,000

Sundry creditors —... 56,000

Veterinary Medical expenses

  for cattle 6,000 —...

Wages for rearing 10,000 —...

Maintenance of farm

  machinery 8,000 —...

Bank interest 28,000 —...

Crop insurance 4,000 —...

Depreciation provision on

  farm machinery —... 1,00,000

Sales :

Cattle —... 1,20,000

Sheep —... 80,000

Milk —... 60,000

Paddy —... 1,00,000

Fruits —... 1,00,000

Vegetables —... 64,000

Fodder —... 30,000

Flowers —... 10,000
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Cash in hand 20,000 —...

Bank Balance 40,000 —...

Debtors 80,000 —...

Farm Machinery (at cost) 2,00,000 —...

Manager’s salary 40,000 —...

Other staff salaries 40,000 —...

Land 12,00,000 —...

Farm building 6,00,000 —...

Bullocks 20,000 —...

Bullock-cart 10,000 —...

Irrigation shed 10,000 —...

Tractor 1,50,000 —...

Running expenses of tractor 34,000 —...

26,80,000 26,80,000

Additional information :

(1) Provide depreciation on : Tractor @ 10% p.a., Bullock-cart

@ 20% p.a., farm machinery @ 10% on original cost, farm

building Rs. 2,000.

(2) Rs. 20,000 worth of farm produce was consumed by Live-

stock.

(3) Manager salary and other staff salary are to be apportioned

as 60% to crop and 40% to livestock.

(4) Tractor expenses are to be apportioned in the ratio of

3 : 2 between crop and livestock.

(5) Stock as on 31-3-2011—Cattle Rs. 40,000, Sheep Rs. 24,000,

Crop & fertilizer Rs. 60,000.
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Or

Rukmini keeps her books by single entry. On 1-4-2010 her capital

was Rs. 69,000. Analysis of her cash book for the year 2010-11

gives the following particulars : [20]

Debit side :

Rs.

Received from sundry debtors 60,000

Paid into Capital A/c 5,000

Credit side :

Due to bank on 1-4-2010 7,400

Payment to sundry creditor 25,000

General expenses of business 10,000

Salaries paid 15,500

Drawings 3,000

Balance at Bank on 31-3-2011 4,000

Cash in hand 100

Assets and liabilities were :

Particulars            1-4-2010     31-3-2011

Rs. Rs.

Debtors 53,000 88,000

Creditors 15,000 19,500

Stock 17,000 19,000

Plant & machinery 20,000 20,000

Furniture 1,400 1,400

From the above information prepare Trading and Profit & Loss

A/c for the year ended 31-3-2011 and Balance Sheet as on that

date.  You are also required to prepare Total Debtors A/c and Total

Creditors A/c after providing 5% interest on opening capital balance,

10% depreciation on plant and machinery, 5% depreciation on furniture

and reserve of 5% on sundry debtors.
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[3969]-303

T.Y. B.Com. EXAMINATION, 2011

ECONOMICS

(Indian and Global Economic Development)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Describe the basic characteristics of the Indian Economy as an emerging

economy. [16]

2. Explain the constraints on Agricultural development in

India. [16]

Or

Explain the role of Industrialisation in economic development.

3. (A) Explain the role of Human Resource in economic develop-

ment. [8]

(B) Explain the convertibility of Rupee on Current Account. [8]

Or

(A) State and explain the arguments for privatisation. [8]

(B) State the objectives of SAARC. [8]

4. Explain the need of foreign capital in economic development. [16]

P.T.O.
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5. Write short notes on any two : [16]

(a) Importance of infrastructure in economic development.

(b) Objectives of economic planning in India.

(c) World Trade Organisation (WTO)

(d) European Union (EU).

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk ikgk-

1. mn;ksUeq[k vFkZO;oLFkk Eg.kwu Hkkjrh; vFkZO;oLFksph ew«Hkwr oSfðk"VÓs Li"V

djk- [16]

2. Hkkjrkrh« ðksrh fodklkrh« vMFkˇs Li"V djk- [16]

fdaok

vkfFkZd fodklkrh« vkS|ksfxdhdj.kkph Hkwfedk Li"V djk-

3. (v) vkfFkZd fodklkrh« ekuoh lalk/kukph Hkwfedk Li"V djk- [8]

(c) pk«w [kkR;kojh« #i;kph ifjorZuh;rk Li"V djk- [8]

fdaok

(v) [kktxhdj.kkP;k cktwus ;qDrhokn lkaxk o Li"V djk- [8]

(c) lkdZph mfÌ"Vs lkaxk- [8]

4. fonsðkh HkkaMo«kph vkfFkZd fodklkrh« vkoð;drk Li"V djk- [16]
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5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr fVik f«gk % [16]

(v) ik;kHkwr lqfo/kkaps vkfFkZd fodklkrh« egRo-

(c) Hkkjrh; vkfFkZd fu;kstukph mfÌ"Vs

(d) tkxfrd O;kikj la?kVuk (WTO)

(M) ;qjksih; la?k (EU)
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T.Y. B.Com. EXAMINATION, 2011

AUDITING AND TAXATION

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define the term ‘Auditing’. Explain the scope, objectives and advantages

of an auditing. [16]

2. What is vouching ? State its importance. Which precautions are

to be taken while examining the vouchers ? [16]

Or

What are the duties of company auditor ? What are the provisions

of the Companies Act 1956, regarding qualifications and disqualifications

of an auditor ?

3. Explain the concept of Agricultural Income. [8]

Or

Mr. Ram owns two houses which he occupied for his own residence.

He submits the following particulars in respect of the houses for

the financial year 2010-2011 :

 Particulars House I House II

Municipal valuation (Rs.) 3,60,000 6,72,000

Fair Rent (Rs.) 4,08,000 7,02,000

Standard Rent (Rs.) 3,72,000 6,90,000

P.T.O.
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Municipal Taxes 10% 10%

Int. on Borrowed capital (Rs.) 80,000 1,75,000

Date of completion 31st March, 31st March,

  of houses 2004 2008

You are required to determine the taxable income from house property

of Mr. Ram for A.Y. 2011-2012.

4. (a) Mr. Ajay is working as Branch Manager in UTI company, Solapur.

He furnishes the following details of his emoluments for the

financial year 2010-11. Compute his Income from salary for

the year 2011-12 : [16]

(1) Basic salary Rs. 55,000 per month.

(2) D.A. 40% of basic salary (60% of which is considered

for retirement benefits).

(3) Bonus Rs. 35,000 p.a.

(4) City compensatory allowance Rs. 1,200 per month.

(5) Children education allowance Rs. 800 per month. (He is

having two sons and one daughter)

(6) Entertainment allowance Rs. 1,000 per month.

(7) Transport allowance Rs. 1,000 per month.

(8) The company provides a rent free furnished house (furniture

amounted to Rs. 60,000 is also provided by the employer).

Population of Solapur is assumed 12 lakhs.
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(9) Contribution to R.P.F. Rs. 6,000 per month by the

employee and equal amount is contributed by the

employer.

(10) He has been provided with 1700 c.c. Car for

official and private purposes. The petrol and other

expenditure (including driver’s salary) paid by the

employer.

(11) He received Rs. 25,000 by way of reimbursement of the

hospital bill in respect of his wife.

(12) Interest credited to R.P.F. @ 12% was Rs. 72,000.

(13) Professional tax paid Rs. 2,500.

(b) The following is the Profit and Loss Accounts for

the year ended on 31st March 2011, furnished by

Mr. Balasaheb : [8]

Profit and Loss A/c

Expenditure Amount Income Amount

(Rs.) (Rs.)

To Salary 80,000 By Gross profit 2,00,000

To advertisement 10,000 By sundry

To Office Expenses 5,000   receipt 15,000

To Fire Insurance 5,500 By gift from

To Depreciation 16,000   father 50,000
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Rs. Rs.

To Bonus 15,000 By Interest on

To Income Tax 10,000   Bank deposit 25,000

To Sales Tax 8,000

To Interest on

  Bank Loan 12,000

To R.D.D. 4,500

To Net profit 1,24,000

   Total 2,90,000 2,90,000

Other Information :

(1) Salary includes Rs. 5,000 paid to domestic servant.

(2) Allowable depreciation as per Income Tax Act is Rs. 12,000.

(3) Bank Loan is for business purpose.

You are required to compute taxable income from business

for the assessment year 2011-12 of Mr. Balasaheb.

5. Mr. Pranit is working in India Ltd. Delhi. He has furnished the

following details of his income for the year 2010-11 : [16]

(1) Basic Salary Rs. 50,000 p.m.

(2) D.A. 40% of salary (Not considered for retirement benefits)

(3) Bonus equal to two months of basic salary.

(4) Helper allowance Rs. 1,000 p.m.

(5) Reimbursement of education expenses Rs. 20,000 by his employer.

(6) Employer’s contribution to R.P.F. 15% of salary.

(7) Travelling allowance for his official tours Rs. 25,000. (Actual

expenditure Rs. 20,000).
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(8) Mr. Pranit is the owner of house property, which he has let

out for annual rent Rs. 4,80,000. Fair rent is Rs. 5,00,000.

Municipal valuation is Rs. 4,50,000. He paid municipal tax

Rs. 20,000. Interest paid on borrowed capital Rs. 1,55,000 and

principal amount repaid Rs. 50,000.

(9) Mediclaim Insurance Premium Rs. 25,000 for his mother who

is 65 years old.

(10) His contribution to Public Provident Fund Rs. 30,000.

(11) Interest on Government securities Rs. 15,000 is received.

(12) Income from unit of UTI Rs. 45,000 is received.

(13) He deposited Rs. 60,000 in S.B.I. Bank as fixed deposit for

5 years.

(14) Donation paid to Government for the promotion of family planning

Rs. 20,000.

(15) Dividend received by Indian company Rs. 30,000.

(16) Income from business Rs. 2,50,000.

(17) The company has deducted Income Tax Rs. 80,000.

(18) He paid Professional Tax Rs. 2,500.

You are required to compute taxable income and tax liability to

Mr. Pranit for the assessment year 2011-12.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) vkoð;d vlY;kl baxzth izðuif=dk igkoh-

1. vads{k.kkph O;k[;k |k- vads{k.kkph O;kIrh] mfÌ"VÓs vkf.k Qk;ns Li"V djk- [16]

2. ikorh ijh{k.k Eg.kts dk; \ R;kps egRo lkaxk- ikorh ijh{k.k djrkauk dks.krh

dkˇth ?;k« \  [16]

fdaok

daiuh vads{kdkph drZO;s lkaxk- daiuh dk;nk 1956 uqlkj vads{kdkph ik=rk o

vik=rsckcr rjrqnh lkaxk-

3. œ"kh mRiUu gh ladYiuk Li"V djk-  [8]

fdaok

Jh jke ;kaph Lor%P;k ek«dhph nksu jkgrh ?kjs vkgsr- vkfFkZd o"kZ 2010-11 ph

R;kaP;k ?kjkaph ekfgrh iq<h«izek.ks fn«s«h vkgs %

   rifðððððk« ?kj ÿ- I ?kj ÿ- II

uxjikf«dk ewY;kadu (#-) 3,60,000 6,72,000

oktoh HkkMs (#-) 4,08,000 7,02,000

izekf.kr HkkMs (#-) 3,72,000 6,90,000

uxjikf«dk dj 10% 10%

?kjcka/k.kh dtkZojh« O;kt (#-) 80,000 1,75,000

?kj cka/kdke iw.kZRokph 31 ekpZ] 31 ekpZ]

   rkjh[k 2004 2008

R;kaps dj vkdkj.kh o"kZ 2011-2012 djhrk x`glaiŸkhiklwups mRiUu dk<k-
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4. (v) Jh vt; gs lks«kiwj ;sFkh« ;q-fV-vk;- daiuhe/;s cz°p eWustj ;k inkoj

dk;Zjr vlwu R;kauh 2010-11 ;k vkfFkZd o"kkZps mRiUu iq<h«izek.ks lknj

ds«s vkgs- R;kaps ixkjkiklwu mRiUu 2011-12 ;k djvkdkj.kh o"kkZlkBh fufðpr

djk % [16]

(1) eq̌  ixkj 55,000 #- n-e-

(2) egkxkbZ HkŸkk eq̌  ixkjkP;k 40% (60% egkxkbZ HkŸkk fuo`Ÿk «kHkklkBh

«kxw)-

(3) cksul 35,000 #- okf"kZd-

(4) ðkgjHkjikbZ HkŸkk 1,200 #- n-e-

(5) ðkS{kf.kd HkŸkk 800 #- n-e- (R;kauk nksu eq«s o ,d eq«xh

vkgs)-

(6) dje.kqd HkŸkk 1,000 #- n-e-

(7) okgrwd HkŸkk 1,000 #- n-e-

(8) daiuhus R;kauk lqlTt&QfuZpjlg ?kj iqjfo«s«s vkgs- (60,000 #- fdaerhps

QfuZpj ek«dkus iqjfo«s vkgs)- lks«kiwjph «ksdla[;k 12 «k[k vkgs]

vls x`ghr /kjk-

(9) ekU;rkizkIr Hkfo";fuf/k«k ek«dkus 6,000 #- n-e- oxZ.kh Hkj«s«h vkgs

o rso<hp oxZ.kh rs Lor% Hkjrkr-

(10) daiuhus R;kauk 1700 lh-lh- {kersph dkj dk;kZ«;hu vkf.k oS;fDrd

okijklkBh fn«s«h vkgs- isV™ks« o brj [kpZ (M™k;OgjP;k ixkjklg)

daiuh djrs-

(11) R;kauk iRuhP;k nok[kkU;kP;k [kpkZph ijrQsM 25,000 #- ek«dkdMwu

feˇk«h-

(12) ekU;rkizkIr Hkfo"; fuokZg fu/khoj 12% njkus 72,000 #- O;kt tek

>k«s vkgs-

(13) R;kauh O;olk; dj 2,500 #- Hkj«k vkgs-
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(c) Jh ckˇklkgsc ;kaps 31 ekpZ 2011 jksth lai.kkÚ;k o"kkZps uQk&rksVk i=d

iq<h« izek.ks vkgs % [8]

uQk&rksVk i=d

[kpZ #- mRiUu #-

ixkj 80,000 <ksc« uQk 2,00,000

tkfgjkr 10,000 fdjdksˇ tek 15,000

dk;kZ«;hu [kpZ 5,000 ofM«kadMwu HksV 50,000

vfXu foek 5,500 c°d Bsohojh« O;kt 25,000

?klkjk 16,000

cksul 15,000

mRiUu dj 10,000

foÿh dj 8,000

c°d dtkZojh« O;kt 12,000

laðkf;r dtZ rjrwn 4,500

fuOoˇ uQk 1,24,000

2,90,000 2,90,000

brj ekfgrh %

(1) ixkjkP;k jdese/;s 5,000 #- ?kjxqrh uksdjk«k fn«sY;k ixkjkps

vkgsr-

(2) vk;dj dk;|kuqlkj ekU; ?klkjk 12,000 #- vkgs-

(3) c°dsps dtZ O;olk;klkBh ?ksr«s vkgs-

Jh ckˇklkgsc ;kaps dj vkdkj.kh o"kZ 2011-12 lkBh O;olk;kiklwups djik=

mRiUu dk<k-
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5. Jh izf.kr] baMh;k f«- fnY«h ;sFks dk;Zjr vkgsr- 2010-11 ;k o"kkZP;k mRiUukfo"k;h

R;kauh ekfgrh iq<h«izek.ks fn«h vkgs % [16]

(1) eq̌  ixkj 50,000 #- njegk-

(2) egkxkbZ HkRrk ixkjkP;k 40% (fuo`Rrh «kHkklkBh xzk· ukgh)-

(3) cksul nksu efgU;kP;k eqˇ osruk ,o<k-

(4) enruhl HkRrk 1,000 #- njegk-

(5) ðkS{kf.kd [kpkZP;k HkjikbZiksVh daiuhus 20,000 #- fn«s vkgs-

(6) ek«dkus R;kaP;k ekU;rkizkIr Hkfo";fuokZg fu/khr osrukP;k 15% jDde

Hkj«h-

(7) dk;kZ«;hu dkedktklkBh izoklHkŸkk 25,000 #- (izoklkrh« izR;{k [kpZ

20,000 #-)

(8) Jh izf.kr ;kaps ek«dhps ?kj vkgs- rs R;kauh HkkMÓkus fn«s vkgs- R;kps ok"khZd

HkkMs 4,80,000 #-] oktoh HkkMs 5,00,000 #-] uxjik«hdk eqY; 4,50,000 #-

vlqu R;kauh uxjikf«dk dj 20,000 #- Hkj«k- R;kauh ?kj dtkZojh« O;ktkiksVh

1,55,000 #- vkf.k eqn~n« 50,000 #- Hkj«s vkgs-

(9) R;kauh vkbZpk vkjksX;kpk esMhD«se foek gIrk 25,000 #- Hkj«k- vkbZps o;

65 o"kZ vkgs-

(10) R;kauh lkoZtfud Hkfo"; fuokZg fu/khe/;s 30,000 #- oxZ.kh Hkj«h

vkgs-

(11) ljdkjh izfrHkqrhojh« O;kt 15,000 #- feˇk«s-

(12) ;qfuV V™LV vkWQ bafM;kP;k ;qfuV ojh« mRiUu 45,000 #- feˇk«s-
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(13) R;kauh ,l-ch-vk;- c°dsr eqnr Bso [kkR;kr 60,000 #- 5 o"kkZdjhr Bso

Bso«h vkgs-

(14) dqVqac fu;kstu izksRlkguklkBh ljdkj«k fn«s«h ns.kxh 20,000 #-

(15) Hkkjrh; daiuhdMwu feˇk«s«k «kHkkaðk 30,000 #-

(16) O;olk;kiklqups mRiUu 2,50,000 #-

(17) daiuhus R;kaP;k ixkjkrqu mRiUu dj 80,000 #- dikr ds«k vkgs-

(18) R;kauh O;olk; dj 2,500 #- Hkj«k vkgs-

Jh izf.kr ;kaps djfu/kkZj.k o"kZ 2011-12 ps ,dw.k djik= mRiUu o djns;rk

dk<k-
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T.Y. B.Com. EXAMINATION, 2011

BUSINESS ADMINISTRATION

Paper II

(Human Resource Development and Marketing)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— All questions are compulsory.

1. Explain the nature and scope of ‘Human Resource Management’. [16]

2. Answer the following questions (any one) : [16]

(A) What are the objectives of ‘Manpower Development’ ?

Or

(B) Explain the importance of ‘Career Planning’.

3. Answer the following questions : [8×2=16]

(A) What are the advantages of advertising to the society ?

(B) What are the challenges in International Marketing ?

Or

(A) What are the types of ‘Channels of Distribution’ ?

(B) What is ‘Retailing’ ? What are the new trends in Retail Marketing ?
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4. Define Marketing. What are the various functions of Marketing ? [16]

5. Write short notes on (any two) : [2×8=16]

(1) Types of Interviews

(2) Importance of ‘Branding’

(3) Price Mix

(4) Types of Recruitment.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :—loZ izðu vkoð;d vkgsr-

1. euq";cˇ O;oLFkkiukph O;kIrh o Lo:i Li"V djk- [16]

2. iq<h« izðukaph mŸkjs |k (dks.krkgh ,d) % [16]

(v) euq";cˇ fodklkph mfÌ"Vs Li"V djk-

fdaok

(c) dkjfdnZ fu;kstukps egRo Li"V djk-

3. iq<h« izðukaph mŸkjs |k % [16]

(v) tkfgjkrhaps lektk«k gks.kkjs Qk;ns Li"V djk-

(c) vkarjjk"V™h; Lrjkojh« foi.kukiq<h« vkOgkus dks.krh vkgsr \
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fdaok

(v) forj.kiz.kk«hps fofo/k izdkj Li"V djk-

(c) fdjdkš  Lrjkojh« O;kikj Eg.kts dk; \ ;k O;kikjkps vk/kqfud izokg dks.krs \

4. foi.ku gh laKk Li"V djk o foi.kukph fofo/k dk;sZ f«gk- [16]

5. FkksMD;kr Vhik f«gk (dks.kR;kgh nksu) % [16]

(1) eq«k[krhps izdkj

(2) fpUgkadukps egRo

(3) ewY;feJ@fdaer feJ

(4) deZpkjh Hkjrhps izdkj-
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T.Y. B.Com. EXAMINATION, 2011

BANKING AND FINANCE—II

(Financial Markets and Institutions in India)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain in detail a structure of Indian Financial System. [16]

2. Define Money Market. Explain the nature, scope and the institutions

of Indian Money Market. [16]

Or

Explain the characteristics of capital market and working of Mumbai

Stock Exchange. [16]

3. (A) Explain the definition and characteristics of Non-Banking

Financial Institutions. [8]

(B) State the progress of Industrial Finance Corporation of India. [8]
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Or

(A) Explain the working of Housing Finance Institutions. [8]

(B) Explain the progress of State Finance Corporations. [8]

4. State in detail the working and progress of Life Insurance Corporation

of India. [16]

5. Write short notes on (any two) : [16]

(i) Lease Financing

(ii) Industrial Investment Bank of India

(iii) Provident Fund

(iv) Merchant Banking.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. foŸkh; iz.kk«hph jpuk lfoLrj Li"V djk- [16]

2. Hkkjrh; uk.kscktkjkph O;k[;k f«gk- Hkkjrh; uk.kscktkjkps Lo:i] O;kIrh o laLFkk Li"V
djk- [16]

fdaok

HkkaMoˇ cktkjkph oSfðk"VÓs lkaxwu eqacbZ jks[ks cktkjkph dkefxjh Li"V djk- [16]
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3. (v) c°d O;olk;sŸkj foŸkh; laLFkkaph O;k[;k vkf.k oSfðk"VÓs lkaxk- [8]

(c) Hkkjrh; vkS|ksfxd foŸkiqjoBk egkeaMˇkph izxrh Li"V djk- [8]

fdaok

(v) x`g foŸkiqjoBk dj.kkÚ;k laLFkkaps dk;sZ Li"V djk- [8]

(c) jkT; foŸkh; egkeaMˇkaph izxrh Li"V djk- [8]

4. Hkkjrh; vk;qfoZek egkeaMˇkph dk;Ziºrh vkf.k izxrh lfoLrj lkaxk- [16]

5. FkksMD;kr fVik f«gk (dks.kR;kgh nksu) [16]

(1) HkkMsiÍk foŸkiqjoBk

(2) Hkkjrh; vkS|ksfxd xqaro.kwd c°d

(3) Hkfo"; fuokZg fu/kh

(4) izdYi lsok c°fdax-
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T.Y. B.Com. EXAMINATION, 2011

BUSINESS LAWS AND PRACTICES

Paper II

(NEW 2008 COURSE)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain the objectives, powers and functions of Securities and

Exchange Board of India (SEBI). [16]

2. State the provisions regarding realisation, repartriation of and

exemption of Foreign exchange as per Foreign Exchange Management

Act, 1999. [16]

Or

State the provisions regarding contributions as per Employees State

Insurance Act, 1948. [16]

3. (A) Explain the powers and duties of Inspector under the Factories

Act, 1948. [8]

(B) State the composition, duties and powers of the competition

commission of India as per Competition Act, 2002. [8]
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Or

(A) Explain the concepts—Minimum Time Rate, Piece Rate Wages

and Guarantee Time Rate. [8]

(B) State powers and duties of Director General and Registrar

as per Competition Act, 2002. [8]

4. Explain provisions regarding ‘Safety’ as per Factories Act, 1948. [16]

5. Write short notes on (any two) : [16]

(A) Salient features of Minimum Wages Act.

(B) Composition, working and powers of Medical Benefit Council

[Employees State Insurance Act, 1948].

(C) Time of payment of wages and medium of payment of wages

[Payment of Wages Act, 1936].

(D) Employees State Insurance Corporation (ESI Corporation).

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. Hkkjrh; izfrHkwrh vkf.k fofue; eaMˇkph mfÌ"Vs] vf/kdkj o dk;sZ Li"V djk- [16]
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2. ijfd; fofue; O;oLFkkiu dk;nk] 1999Uo;s ijfd; p«u fod.ks] Lonsðkkr ijr ikBfo.ks

vkf.k lwV ns.ks ;kckcrP;k rjrqnh lkaxk- [16]

fdaok

deZpkjh jkT; foek ;kstuk dk;nk] 1948Uo;s vkfFkZd lgHkkx (Contributions) ckcrP;k

rjrqnh lkaxk- [16]

3. (v) dkj[kkuk dk;nk] 1948Uo;s fujh{kdkaps vf/kdkj o drZO;s Li"V djk- [8]

(c) Hkkjrkrh« Li/kkZ vk;ksxkph jpuk] drZO;s vkf.k vf/kdkj lkaxk (Li/kkZ dk;nk

2002)- [8]

fdaok

(v) fdeku dk« osru nj] dkekizek.ks osru] fufðpr le; osru ;k ladYiuk Li"V

djk- [8]

(c) Li/kkZ dk;nk] 2002 vUo;s Mk;jsDVj tuj« vkf.k uksan.kh vf/kdkjh ;kaps vfËkdkj

o drZO;s lkaxk- [8]

4. dkj[kkuk dk;nk] 1948uqlkj dkj[kkU;krh« dkexkjkaP;k lqjf{krrsckcrP;k rjrqnh Li"V

djk- [16]

5. FkksMD;kr fVik f«gk (dks.kR;kgh nksu) % [16]

(v) fdeku osru dk;nÓkph Bˇd oSfðk"Vs-

(c) oSnÓfd; «kHk lferhph jpuk] dk;sZ o vf/kdkj (deZpkjh jkT; foek dk;nk]

1948)-

(d) osru ns.;kpk dk«ko/kh vkf.k ek/;e (osru o etwjh dk;nk] 1936)-

(M) deZpkjh jkT; foek egkeaMˇ (bZ- ,l- vk;- dkiksZjsðku)-
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T.Y. B.Com. EXAMINATION, 2011

CO-OPERATION AND RURAL DEVELOPMENT

Paper II

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is meant by Co-operative Management ? Explain the objectives

and functions of co-operative management. [16]

2. What is meant by Professionalisation of Management ? Enumerate

the need and significance of Professionalisation of Management. [16]

Or

Explain the measures to overcome the defects in Co-operative

Management.

3. (A) State the problems of Co-operative Administration in

Maharashtra.

(B) Explain the functions of District Deputy Registrar of

Co-operatives. [16]

Or

(A) Explain the responsibilities of Co-operative Auditor.

(B) Enumerate the nature of Financial Management of Co-operatives.
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4. Define Co-operative Audit. Explain in detail the different types of

Co-operative Audit. [16]

5. Answer the following questions (any two) : [16]

(1) State the qualification and duties of Co-operative Auditor.

(2) Explain the objectives of Co-operative Audit.

(3) Distinguish between Corporate Finance and Co-operative Finance.

(4) Explain the need of financial control in co-operatives.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- lgdkjh O;oLFkkiu Eg.kts dk; \ lgdkjh O;oLFkkiukph mÌh"Vs vkf.k dk;sZ Li"V

djk- [16]

2- O;oLFkkiukps O;kolkf;fddj.k Eg.kts dk; \ O;oLFkkiukP;k O;kolk;fddj.kkph xjt

vkf.k egRo foðkn djk- [16]

fdaok

lgdkjh O;oLFkkiukrh« nks"k nqj dj.;klkBh vl«sY;k mik;;kstuk Li"V djk-

3- (v) egkjk"V™krh« lgdkjh izðkklukrh« nks"k lkaxk-

(c) lgdkjh ftYgk mifuca/kdkph dk;sZ Li"V djk- [16]

fdaok

(v) lgdkjh «s[kkifj{kdkP;k tckcnkÚ;k Li"V djk-

(c) lgdkjh fofŸk; O;oLFkkiukps Lo:i foðkn djk-
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4- lgdkjh «s[kkifj{k.kkph O;k[;k lkaxk- lgdkjh «s[kkifj{k.kkps fofo/k izdkj lfoLrj

Li"V djk- [16]

5- [kk«h« izðukaph mŸkjs |k (dks.krsgh nksu) % [16]

(1) lgdkjh «s[kkifj{kdkph ik=rk vkf.k drZO;s lkaxk-

(2) lgdkjh «s[kkifj{k.kkph mÌh"Vs Li"V djk-

(3) daiuh foŸk vkf.k lgdkjh foŸk ;krh« Qjd Li"V djk-

(4) lgdkjke/;s fofŸk; fu;a=.kkph xjt Li"V djk-
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T.Y. B.Com. EXAMINATION, 2011

COST AND WORKS ACCOUNTING

Paper II

(Overheads and Methods of Costing)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. (A) State whether the following statements are True or False : [5]

(1) Indirect cost is the cost which cannot be allocated but

which can be apportioned to cost centres.

(2) The time factor is ignored when the cost of material

is used as the basis for absorption of overheads.

(3) The term cost driver is used to describe the significant

determinant of the cost of the activity.

(4) In cost plus contract the contractor runs risk of incurring

loss.

(5) The cost of abnormal process loss is absorbed in the

cost of production of good units.
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(B) Fill in the blanks : [5]

(1) When absorbed overheads are ` 7,000 and actual

overheads are ` 10,000, there is................absorption

of ` 3,000.

(2) If budgeted overheads are ` 12,000, direct labour hours

are 10,000 and Job No. 101 requires 1000 direct labour

hours, then amount of overhead absorbed by Job No. 101

will be `......... .

(3) Cash received ` 4,80,000 being 80% of work certified,

then value of work certified will be `........... .

(4) Ton-kilometer is the cost unit used in.............costing.

(5) ..................products are defined as saleable or useable

value incidentally produced in addition to the main

product.

2. What do you understand by Activity Based Costing System ? Explain

various stages related to designing of Activity Based Costing System. [15]

Or

What do you understand by Job Costing ? State its basic features.

In which industries it is applied.
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3. Write short notes on (any three) : [15]

(a) Applications of Service Costing

(b) Abnormal loss in Process Costing

(c) Escalation clause in Contract Costing

(d) Joint products and by-products

(e) Value of Work Certified.

4. (A) X Ltd. has 3 production departments and 2 service departments.

The following is the budget for the month of March : [15]

Particulars Total Production Departments  Service Departments

` A B C D E

Indirect Material (`) 1,000 2,000 4,000 2,000 1,000

Indirect Labour (`) 5,000 2,000 8,000 1,000 2,000

Factory Rent 4,000

Power 2,500

Depreciation 1,000

Additional Information

Area (sq. ft.) 500 250 500 250 500

Asset Value (` Lacs.) 20 40 20 10 10

Machine Hours 1,000 2,000 4,000 — —

Horsepower of Machines 50 40 70 40 50
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A technical assessment of the apportionment of expenses of

service departments is as under :

Service Department A (%) B (%) C (%) D (%) E (%)

D 40 20 30 — 10

E 60 30 — 10 —

You are required to find out Machine Hour Rate of production

departments using repeated distribution method.

(B) From the following data relating to a vehicle, compute the

cost per running kilometer : [5]

Annual kilometers run 15,000

Cost of vehicle ` 5,00,000

Total Standing Charges per annum ` 50,000

Driver’s wages per hour ` 20

Cost of petrol per litre ` 60

Kilometers run per litre 20 kms

Repairs and maintenance per km. ` 0.67

Life of vehicle 2,50,000 kms

The vehicle runs 20 kilometers per hour on an average.
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5. (A) A product passes through two distinct processes A and B

and thereafter it is transferred to finished stock. From the

following information, you are required to prepare Process

Accounts : [10]

Process A Process B

` `

Materials consumed 12,000 6,000

Direct Labour 14,000 8,000

Manufacturing Expenses 4,000 4,000

Input in process A (Unit) 10,000 —

Input in process A (Value) 10,000 —

Output (Units) 9,400 8,300

Normal wastages percentages

 of input 5% 10%

Value of normal wastages

 (per 100 units) 8 10
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(B) X Ltd. undertakes several large contracts. The following are

the particulars relating to Contract No. 11 for the year ended

31st March, 2010 : [10]

`

Material purchased 1,00,000

Material transferred from Contract No. 12 55,000

Material returned to store 500

Material at site on 31st March, 2010 1,000

Plant purchased and installed at site 72,000

Installation Charges of Plant 8,000

Wages 1,27,000

Other Expenses 42,500

Work uncertified 6,000

Contract price 16,00,000

Cash received from contractee 3,20,000

(represented the full amount of work certified less 20% retention

money)

Provide depreciation on plant @ 10% p.a. as per reducing balance

method. Prepare Contract Account.
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Or

A transport company is running 4 buses between two towns

which are 50 kms apart. Seating capacity of each bus is 40

passengers. The following particulars were obtained from their

books for April, 2010 : Rs.

Wages of Drivers 24,000

Salaries of Office staff 10,000

Diesel oil and other oils 40,000

Repairs and Maintenance 8,000

Taxation and Insurance 16,000

Depreciation 26,000

Interest and other charges 20,000

Actual passengers carried were 75% of the seating capacity.

All the four buses ran on all the days of the month.

Each bus made one round trip per day. Find out cost per

passenger per km.
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T.Y. B.Com. EXAMINATION, 2011

BUSINESS STATISTICS
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

1. (A) Attempt any four of the following : [2 each]

(a) Define the term “Inventory Control”.

(b) State additive theorem of probability.

(c) Evaluate :

(i) 10C3

(ii) 10P2.

(d) Give any two real life situations where Poisson distribution

can be used.

(e) State whether each of the statement given below is True

or False :

(i) For Poisson distribution, mean and variance are equal.

(ii) For binomial distribution mean is always smaller

than the variance.
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(f) Let X follows binomial distribution. If E (X) = 9 and variance

(X) = 3.6, find the values of parameters n and p.

(B) Attempt any two of the following :

(a) Explain :

(i) Complementary events

(ii) Independence of two discrete random variables

(iii) Conditional probability of event A for given

event B. [6]

(b) A discrete random variable X has the following probability

distribution :

X P (X)

0 1/10

1 2/10

2 5/10

3 1/10

4 1/10

Find :

(i) P (X ≤ 2)

(ii) Mean of X

(iii) Variance of X. [6]



[3969]-310 3 P.T.O.

(c) A company buys in lots of 500 boxes which is 3 months

supply. The cost per box is Rs. 125 and the ordering

cost is Rs. 150. The inventory carrying cost is to estimated

at 20% of unit value.

Find :

(i) EOQ

(ii) Total cost at EOQ. [6]

2. Attempt any two of the following :

(a) (i) Define Poisson distribution. [2]

(ii) If X follows Poisson distribution with :

  2 P(X = 0) + P(X = 2) = 2 P(X = 1),

find mean of the distribution. [6]

(b) Given : P(A) = 0.6, P(B) = 0.4, P(A B) 0.3∩ = , find :

(i)

P(A')

(ii)

P(A B)∪

(iii)

P(A' B)∩

(iv) P(B/A). [8]
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(c) The joint probability distribution of (X, Y) is given below :

   X 1 2 3

Y

0 K 2K 2K

1 K 3K 4K

2 2K K K

Obtain :

(i) The value of K

(ii) P(X > 1)

(iii) Marginal probability distribution of X and Y

(iv) S.D. of Y. [8]

3. Attempt any two of the following :

(a) (i) Explain the procedure of drawing a systematic sample

with an illustration. [4]

(ii) In a population of size 6 the values are 1, 2, 3, 4,

5 and 9. Draw all possible SRSWOR of size 2. Verify

that sample mean is unbiased estimator of population

mean. [4]

(b) (i) State applications of χ2-test. [2]
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(ii) From the information given below test whether the

type of occupation and attitude towards the social laws

are independent :

        Attitude

Occupation Favourable Opposite Total

Blue Collar 70 530 600

Professional 155 745 900

Total 225 1275 1500

Use 5% level of significance. [6]

(c) (i) State additive property of two independent normal

variates. [2]

(ii) Find Mean and S.D. of normal distribution of marks

in an examination where 44% of the candidates get

marks below 55 and 6% get marks above 80. [6]

4. Attempt any two of the following :

(a) Fill in the blanks of the following ANOVA table marked

“—” :

Source of Degrees of Sum of Mean sum Variance

Variation Freedom Squares of Squares Ratio

Between machine

types 5 — 212.25 —

Between workers 3 — 56 —

Error — — 10

Total — —

Test the homogeneity of machine types and workers. Use

5% level of significance. [8]
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(b) (i) Define Null hypothesis and Type I error. [4]

(ii) A coin is tossed 400 times and it turned up head

210 times. Can the coin be regarded as fair ? Use

5% level of significance. [4]

(c) The weight of 1000 students are normally distributed with

mean 40 kg and S.D. 4 kg. Find the number of students with

weight :

(i) less than 50 kg

(ii) more than 65 kg

(iii) between 40 and 45 kg. [8]

5. Attempt any two of the following :

(a) The information about the samples drawn from two independent

normal populations are given below :

n

,   

∑

,   

∑

2 16n = ,   

∑

,   

∑

Test whether the population variances are equal at 2% level

of significance. [6]
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(b) A merchant recorded number of packets of tea sold for 5

brands at two different situations before and after increase

of tax.

   Brand A B C D E

   Before increase in Tax 50 40 60 60 50

   After increase in Tax 40 35 50 60 40

Is there significant difference in the number of packets sold

before and after increase in tax ? [Use α = 0.05]. [6]

(c) A population is divided into three strata consisting of

Ni (i = 1, 2, 3) individuals. From each stratum sample is

drawn the observations are given below :

Stratum Ni ni Value of yi

1 30 4 5, 10, 12, 15

2 40 3 18, 12, 27

3 60 6 30, 45, 27, 33, 15, 24

(i) Estimate population stratum means.

(ii) Estimate stratum population totals.

(iii) Estimate population mean and population total. [6]



Total No. of Questions—5] [Total No. of Printed Pages—3

[3969]-311
T.Y. B.Com. EXAMINATION, 2011

BUSINESS ENTREPRENEURSHIP

Paper II

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. Explain in detail the role of District Industries Centre (DIC) and

Khadi Village Industries Board (KVIB) in the development of Small

Enterprise. [16]

2. Write a detailed note on Business Networking. [16]

Or

Discuss various business crises. [16]

3. (A) State the functions of Maharashtra Centre for Entrepreneurship

Development (MCED). [8]

(B) Write a note on Turnaround strategies. [8]

Or

(A) Explain the importance of questionnaire in market survey. [8]

(B) Describe the success story of Sanjeev Bikachandani,

naukari.com. [8]

4. State meaning, symptoms and causes of industrial sickness. [16]

P.T.O.
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5. Write short notes (any two) : [16]

(1) Sources of business opportunity

(2) Creativity and innovation

(3) Prime Minister Employment Generation Programme

(PMEGP)

(4) Growth phase management.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ iz'u vfuok;Z vkgsr-

(ii) loZ iz'ukauk leku xq.k vkgsr-

1. «?kq m|ksx fodklkrh« ftYgk m|ksx dsaÊ (DIC) o [kknh xzkeks|ksx eaMˇkph Hkwfedk

Li"V djk- [16]

2. fcf>usl usVodh±x (Business Networking) ;koj lfoLrj Vhi f«gk- [16]

fdaok

O;olk;krh« fofo/k leL;kapah ppkZ djk- [16]

3. (A) egkjk"V™ m|kstdrk fodkl dsaÊkph (MCED) dk;sZ lkaxk- [8]

(B) ^iqu#RFkkiu Mkoisp* ;koj Vhi f«gk- [8]

fdaok

(A) cktkjisB ikg.kh e/kh« izðuko«hps egRo Li"V djk- [8]

(B) latho fcdkpankuh] uksdjh-dkWe ;kaP;k ;ðkksxkFksps o.kZu djk- [8]
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4. vkS|ksfxd vktkji.kkph ladYiuk Li"V d:u R;kph «{k.ks vkf.k dkj.ks foðkn

djk- [16]

5. Vhik |k (dks.kR;kgh nksu) % [16]

(1) O;olk; la/khps lzksr

(2) fufeZrh vkf.k uofufeZrh (Creativity and Innovation)

(3) iariz/kku jkstxkj fufeZrh dk;Zÿe (PMEGP)

(4) o`ºh fLFkrh O;oLFkkiu-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

[3969]-312

T.Y. B.Com. EXAMINATION, 2011

MARKETING MANAGEMENT

Paper II

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain responsibilities and challenges before Marketing Manager.

State qualities and skills required for good manager. [16]

2. Define ‘Market Segmentation’. Explain criteria and approaches of

segmenting the market. [16]

Or

What is C.R.M. ? Explain process of creating and expanding consumer

relationship. [16]

3. (A) Discuss recent trends in social marketing. [8]

(B) State recent trends in Global marketing. [8]

Or

(A) Discuss industrial marketing in India. [8]

(B) Explain organisation for International Marketing. [8]
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4. State meaning and characteristics of retailing. Explain classification

of Retail Marketing. [16]

5. Write short notes on (any two) : [16]

(A) Classification of retail units

(B) Industrial marketing strategy

(C) Trends in retail formats

(D) Social criticism on marketing.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. foi.ku O;oLFkkidkph tckcnkjh o vkOgkus Li"V d:u mŸke O;oLFkkidkps xq.k o

dkSðkY;s lkaxk- [16]

2. cktkjisB foHkkxhdj.kkph O;k[;k |k- cktkjisB foHkkxhdj.kkps fud"k o vk/kkjHkqr ?kVd

Li"V djk- [16]

fdaok

xzkgd laca/k O;oLFkkiu (C.R.M.) Eg.kts dk; \ xzkgd laca/k fuekZ.k dj.;kph

o ok<fo.;kph izfÿ;k Li"V djk- [16]
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3. (v) lkekftd foi.kukrh« vk/kqfud fopkj izokgkph ppkZ djk- [8]

(c) tkxfrd foi.kukps vk/kqfud izokg lkaxk- [8]

fdaok

(v) Hkkjrkrh« vkS|ksfxd foi.kukoj ppkZ djk- [8]

(c) vkarjjk"V™h; foi.kuklkBh la?kVu jpuk Li"V djk- [8]

4. fdjdksˇ foÿhph O;k[;k o oSfðk"VÓs lkaxk- fdjdksˇ foÿh foi.kukps ofxZdj.k

djk- [16]

5. FkksMD;kr fVik f«gk (dks.krsgh nksu) % [16]

(v) fdjdksˇ foÿh dsaÊkps izdkj-

(c) vkS|ksfxd foi.kukph O;wOgjpuk-

(d) fdjdksˇ foÿh jpusrh« izokg-

(M) foi.kukojh« lkekftd fVdk-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

[3969]-313

T.Y. B.Com. EXAMINATION, 2011

AGRICULTURAL AND INDUSTRIAL ECONOMICS

Special Paper II

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. State different types of agricultural processing. Explain the problems

of fruit processing. State the remedial measures taken by government

to eliminate it. [16]

2. Explain the role of agriculture in Indian Economy. [16]

Or

Explain the types of agricultural labour. Explain the nature and

impact of Employment Guarantee Scheme in eliminating the agriculture

unemployment. [16]

3. (A) Explain the problems of agricultural finance in India. [8]

(B) Explain the role of small scale industries in Indian Economy. [8]
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Or

(A) Explain the institutional land reforms in India. [8]

(B) Explain the role of UTI in industrial finance. [8]

4. Discuss the progress and problems of sugar industry in India. [16]

5. Write short notes on (any two) : [16]

(i) Causes of low productivity of Indian agriculture

(ii) Problems of public sector in India

(iii) Social security schemes in India

(iv) Arguments for privatisation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. ðksrhek« izfÿ;kaps fofo/k izdkj lkaxk- Qˇ izfÿ;k m|ksxkP;k leL;k Li"V djk- R;k

deh dj.;klkBh ljdkjus ;kst«s«s mik; lkaxk- [16]

2. Hkkjrh; vFkZO;oLFksrh« ðksrhph Hkqfedk Li"V djk- [16]

fdaok

ðksretqjkaps izdkj Li"V djk- ðksrhe/kh« csjkstxkjh deh dj.;krh« jkstxkj geh ;kstuspk

izHkko vkf.k frps Lo:i Li"V djk- [16]
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3. (v) Hkkjrkrh« œ"kh foŸkiqjoBÓkP;k leL;k Li"V djk- [8]

(c) Hkkjrh; vFkZO;oLFksrh« «?kq m|ksxkaph Hkqfedk Li"V djk- [8]

fdaok

(v) Hkkjrkrh« laLFkkRed tehu lq/kkj.kk Li"V djk- [8]

(c) vkS|ksfxd foŸkiqjoBÓkrh« ;qfuV V™LV vkWQ bafM;kph Hkqfedk Li"V djk- [8]

4. Hkkjrkrh« lk[kj m|ksxkph izxrh vkf.k leL;kaph ppkZ djk- [16]

5. FkksMD;kr fVik f«gk (dks.kR;kgh nksu) % [16]

(i) Hkkjrh; ðksrhph deh mRikndrsph dkj.ks-

(ii) Hkkjrkrh« lkoZtfud {ks=kP;k leL;k-

(iii) Hkkjrkrh« lkekftd lqjf{krrk ;kstuk-

(iv) [kklxhdj.kkP;k cktwps ;qDrhokn-



Total No. of Questions—4] [Total No. of Printed Pages—4

[3969]-314

T.Y. B.Com. EXAMINATION, 2011

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Paper II

(Defence Production and Management in India)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(1) Define Development.

(2) State the meaning of Industrial Policy Resolution.

(3) What are the means of weapon procurement ?

(4) State the meaning of public sector.

(5) Write any two functions of Ministry of Defence.

(6) Write any two principles of Defence Management.

(7) Explain the meaning of Strategic Control.

(8) What is Logistics ?

(9) Define war potential.

(10) What do you mean by Mobilisation of Resources ?

(11) State any two methods of War Finance.

(12) Write any two contributory elements of war potential.

(13) What do you mean by integrated defence ?

P.T.O.
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2. Answer in 50 words each (any two) : [10]

(1) Explain the functions of Defence Production Department.

(2) Discuss the objectives of Defence Public Sector.

(3) Explain Industrial Policy Resolution of 1948.

(4) Discuss scope of Defence Management.

3. Answer in 150 words each (any two) : [20]

(1) Evaluate the role of private sector in Defence Production.

(2) Discuss the effects of war on the Armed Forces.

(3) Explain problems of Arms production in India.

(4) Analyse the causes of increasing India’s defence expenditure

since 1971.

4. Answer in 300 words each (any two) : [30]

(1) Write a note on the concept of Defence Vs. Development.

(2) Explain organisational aspects of Decision-making.

(3) Discuss Economic aspects of Defence Production.

(4) Write a note on Logistics planning for Indian Defence.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 20 ðkCnkr mŸkjs nÓk (dks.krsgh ngk) % [20]

(1) ^fodkl* O;k[;k nÓk-

(2) ^vkSnÓkSfxd /kksj.kkckcrpk Bjko* vFkZ uewn djk-
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(3) ðkL=kL=kph iwrZrk dj.;kckcrps fofo/k iºrh dks.kR;k \

(4) iC«hd lsDVj Eg.kts dk; \

(5) laj{k.k ea=k«;kph nksu dk;sZ uewn djk-

(6) laj{k.k O;oLFkkiukph nksu rRos f«gk-

(7) lkefjd fu;a=.k Eg.kts dk; \

(8) iqjoBkO;oLFkkiu Eg.kts dk; \

(9) ^okWj iksVWufðk;«* O;k[;k nÓk-

(10) lk/kulaiŸkhph xfrekurk Eg.kts dk; \

(11) okWj Qk;ukUlP;k nksu iºrh f«gk-

(12) ;qº{kers«k ;ksxnku ns.kkjs dks.krsgh nksu ?kVd uewn djk-

(13) baUVhxzsVsM fMQsUl Eg.kts dk; \

2. izR;sdh 50 ðkCnkr mŸkjs nÓk (dks.krsgh nksu) % [10]

(1) laj{k.k mRiknu foHkkxkps dk;sZ Li"V djk-

(2) fMQsUl iC«hd lsDVjP;k mfn"Bkckcr ppkZ djk-

(3) 1948ps bUMLV™h;« ikW«hlh fjtks«qðku Li"V djk-

(4) laj{k.k O;oLFkkiukph O;kIrh Li"V djk-

3. izR;sdh 150 ðkCnkr mŸkjs nÓk (dks.krsgh nksu) % [20]

(1) laj{k.k mRiknukrh« izk;OgsV lsDVjP;k Hkwfedsps ewY;ekiu djk-

(2) ;qºkps lðkL= lsukn«kojh« ifj.kkekckcr ppkZ djk-

(3) Hkkjrkrh« laj{k.k mRiknukP;k leL;k Li"V djk-

(4) 1971 uarjP;k HkkjrkP;k laj{k.k [kpZ ok<hph dkj.kehekalk djk-
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4. izR;sdh 300 ðkCnkr mŸkjs nÓk (dks.krsgh nksu) % [30]

(1) laj{k.k vkf.k fodkl ;krh« fojks/kkHkkl ;koj fVi.k f«gk-

(2) fu.kZ;izÿh;srh« la?kVukRed iSˇw Li"V djk-

(3) laj{k.k mRiknukpk vkfFkZd iSˇaw ckcr ppkZ djk-

(4) HkkjrkP;k laj{k.k lanHkk Zrh« iqjoBkO;oLFkkiukps fu;kstu ;koj fVi.k

f«gk-



Total No. of Questions—5] [Total No. of Printed Pages—3

[3969]-315

T.Y. B.Com. EXAMINATION, 2011

INSURANCE, TRANSPORT AND TOURISM

Paper II

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Distinguish between Nomination and Assignment. [16]

2. Explain the importance and claim settlement procedure of Life

Insurance.

Or

Explain the various conditions of Life Insurance Contract. [16]

3. (A) Explain the need of Government control on Life Insurance Business.

(B) Write a brief note on special Revival Scheme of General Insurance.

Or

(A) Write a brief note on Malhotra Committee Report.

(B) Explain the role of Insurance Agent in Insurance

Business. [16]

4. Explain in detail, the various types of claims in General

Insurance. [16]

P.T.O.
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5. Answer the following questions in brief (any two) :

(1) State the various documents of General Insurance.

(2) Explain the objectives of Insurance Amendment Act, 2002.

(3) Describe the rules of Lapse of Policy on Non-Payment.

(4) Explain the methods and rules of payment of General

Insurance. [16]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. ^okjluksan vkf.k cspui=* (eq[kR;kji=) ;krh« Qjd foðkn djk- [16]

2. vk;qfoZE;kps egRo vkf.k uqdlkuHkjikbZ feˇfo.;kph dk;Ziºrh Li"V djk-

fdaok

vk;qfoZek djkjkP;k fofo/k vVh Li"V djk- [16]

3. (v) vk;qfoZek&O;olk;koj ljdkjh fu;a=.kkph xjt Li"V djk-

(c) loZlk/kkj.k foE;kph ^foðks"k iqu«kZHk ;kstuk* ;koj FkksMD;kr fVi f«gk-

fdaok

(v) ^eYgks=k lferh vgok«* (MCR) ;koj FkksMD;kr fVi f«gk-

(c) foek&O;olk;kr foek&izfrfu/khph Hkwfedk Li"V djk- [16]
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4. loZlk/kkj.k foE;krh« fofo/k izdkjps nkos (Claims) lfoLrj Li"V djk- [16]

5. [kk«h« izðukaph FkksMD;kr mŸkjs |k (dks.krsgh nksu) % [16]

(1) loZlk/kkj.k foE;kph fofo/k nLr,sots (dkxni=s) lkaxk-

(2) 2002P;k foek lq/kkj.kk dk;nÓkph mfÌ"Vs Li"V djk-

(3) iSls u HkjY;keqˇs foek ikW«hðkh jÌ gks.;k lanHkkZrh« fu;e foðkn djk-

(4) loZlk/kkj.k foE;kph iSls Hkj.;kP;k iºrh vkf.k fu;e Li"V djk-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

[3969]-316

T.Y. B.Com. EXAMINATION, 2011

COMPUTER APPLICATION

Paper II

(RDBMS, Networking, Internet and E-commerce)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Neat diagrams must be drawn wherever necessary.

1. (A) Consider the following table and solve the following queries

(any four) : [8]

Employee (eno, ename, eadd, esal, edesi)

(i) List the employee name whose salary is less than 5,000.

(ii) List the employee details whose name start with ‘M’.

(iii) List the employee number in descending order.

(iv) List the employee name and address whose designation

is ‘Manager’.

(v) List the employee details whose address is ‘Pune’ or

salary is 2,000.
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(B) Write syntax and use of the following commands (any

four) : [8]

(i) Update

(ii) Create

(iii) Alter

(iv) Delete

(v) Grant.

2. Attempt any four of the following : [16]

(i) What are limitations of file processing system ?

(ii) Explain the the components of EDI.

(iii) Write a note on Trigger used in PL/SQL.

(iv) Explain Web Design Pyramid in detail.

(v) What is Internet ? Explain its different services.

3. Attempt any four of the following : [16]

(i) Explain Normalization concept in detail.

(ii) What are the advantages and disadvantages of DBMS ?

(iii) Explain Computer Network with its different types.

(iv) Explain the Electronic Payment System (EPS).

(v) Write a note on Image Map.
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4. Attempt any four of the following : [16]

(i) Explain hyperlink and order list tag with example.

(ii) State and explain any one category of E-commerce.

(iii) Write a short note on Page Size and Page Margin.

(iv) Explain the different data types used in PL/SQL.

(v) What are the components of DBMS ?

5. Attempt any four of the following : [16]

(i) Write a HTML to display the following information :

Statewise Population Details

State        Population

Maharashtra 1991   100000

2001   200000

2011   300000

Kerala 1991   20000

2001   30000

2011   40000

(ii) Explain the different types of Payment system.

(iii) What are the use of Entrance and Exit Page in Web ?

(iv) Explain search engine with its types.

(v) State various advantages of RDBMS.



P.T.O.

Total No. of Questions—6] [Total No. of Printed Pages—3

[3969]-317

T.Y. B.Com. EXAMINATION, 2011

BUSINESS ADMINISTRATION

Paper III

(Finance, Production and Operations Functions)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is over-capitalisation ? Explain the causes and effects of over-

capitalisation. [14]

2. Explain the functions of Finance Manager. [14]

Or

What is “Working Capital” ? Discuss factors determining the need

of working capital. [14]

3. (A) What are the important steps in Financial Planning ? [7]

(B) What are the functions of Production Management ? [7]

Or

(A) What are the functions of Stock Exchange ? [7]

(B) What are various types of Material Handling Equipments ? [7]
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4. Explain the factors influencing the plant location. [14]

5. Write short notes on (any two) : [14]

(a) Types of Scheduling

(b) Uses of Computers in Inventory Management

(c) ABC Analysis

(d) Principles of Supply Chain Management.

6. “Journey of Tata’s Nano Motor—From Singoor to Sanand”. Discuss. [10]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. vf/kHkkaMoyhdj.k Eg.kts dk; \ vf/kHkkaMoyhdj.kkph dkj.ks o ifj.kke Li"V

djk- [14]

2. foŸkh; O;oLFkkidkph dk;sZ Li"V djk- [14]

fdaok

[kš rs HkkaMoy Eg.kts dk; \ [kš R;k HkkaMoykph xjt fuf'pr dj.kkÚ;k ?kVdkaph

ppkZ djk- [14]
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3. (v) foŸkh; fu;kstukrhy ik;Ú;k dks.kR;k \ [7]

(c) mRiknu O;oLFkkiukph dk;sZ dks.krh \ [7]

fdaok

(v) Hkkx cktkjkph dk;sZ dks.krh \ [7]

(c) eky gkrkˇ.kh lk/kukaps fooh/k izdkj dks.krs \ [7]

4. m|ksxkP;k LFkkufuf'prhoj izHkko ikM.kkjs ?kVd Li"V djk- [14]

5. FkksMD;kr fVik fygk (dks.kR;kgh nksu) % [14]

(v) dk;Zoš ki=dkps izdkj

(c) ekylkBk (Inventory) O;oLFkkiuke/;s lax.kdkps mi;ksx

(d) ,chlh fo'ys"k.k (ABC Analysis)

(M) iqjoBk lk[kˇh O;oLFkkiukph rRos-

6. ^^VkVkaP;k uSuks eksVkjhpk flaxqj rs lkuan izokl** ppkZ djk- [10]
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Total No. of Questions—6] [Total No. of Printed Pages—3

[3969]-318

T.Y. B.Com. EXAMINATION, 2011

BANKING AND FINANCE

Special Paper III

(Banking Law and Practice in India)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain in detail Banking Regulation Act, 1949. [14]

2. What is Negotiable Instrument ? Explain in detail types of Negotiable

Instrument. [14]

Or

Explain precautions for advances against securities. [14]

3. (A) Explain the Recovery of Money paid by mistake. [7]

(B) Explain the concept of ‘Noting and Protesting’. [7]

Or

(A) Explain the types of Mortgage. [7]

(B) Explain the Bankers Lien. [7]
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4. Define Bank. Explain the relationship between Banker and

Customer. [14]

5. Write short notes on (any two) : [14]

(a) Payment of Forged Cheque

(b) Legal measures of Recovery

(c) Parties of Negotiable Instruments

(d) Garnishee Order.

6. Discuss the current issues in Banking Sector. [10]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. c°fdax fu;eu dk;nk] 1949 lfoLrj Li"V djk- [14]

2. pyu{ke nLr,sot Eg.kts dk; \ pyu{ke nLr,sotkps fofo/k izdkj lfoLrj Li"V

djk- [14]

fdaok

izfrHkwr vfxzekackcr ?;ko;kph n{krk Li"V djk- [14]
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3. (v) utjpqdhus iznku dsysY;k iS'kkph olqyh Li"V djk- [7]

(c) ^uksan vkf.k fu"ks/k* ladYiuk Li"V djk- [7]

fdaok

(v) xgk.kkps fofo/k izdkj Li"V djk- [7]

(c) c°dspk /kkj.kkf/kdkj Li"V djk- [7]

4. c°dsph O;k[;k lkaxwu c°d o xzkgd ;kae/khy ukrslaca/k Li"V djk- [14]

5. FkksMD;kr fVik fygk (dks.krsgh nksu) % [14]

(v) cukoV /kukns'kkps iznku

(c) dtZolqyhps dk;ns'khj mik;

(d) ijÿkE;lays[kkps i{k

(M) dtZeqDrhpk vkns'k-

6. c°d{ks=krhy cnyR;k izokgkckcr ppkZ djk- [10]



Total No. of Questions—6] [Total No. of Printed Pages—4+2

[3969]-319

T.Y. B.Com. EXAMINATION, 2011

BUSINESS LAWS & PRACTICES

Special Paper III

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Figures to the right indicate full marks.

(ii) All questions are compulsory.

1. Explain the meaning and objectives of Taxes. Explain the meaning,

merits and demerits of direct and indirect taxes. [14]

2. What is Excise Duty ? Enumerate the various types of duties of

excise that are leviable. [14]

Or

Define the following terms : [14]

(i) Goods

(ii) Excisable goods

(iii) Manufacturer

3. (A) ABC Ltd. sold goods on 25-3-2011 from its two units. Total

sale price (inclusive of sales tax) of goods sold from unit 1

is Rs. 65,61,252 that of goods sold from unit 2 is Rs. 1,07,09,712

P.T.O.
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50% exemption is available from excise duty and from sales

tax. In case of clearances from unit 1 rate of excise duty

is 14.42% and that of sales tax is 4% (both rates being before

any exemption).

You are required to compute the assessable value of goods

sold of from unit 1 and unit 2. [7]

(B) Determine the transaction value and the Excise duty payable

from the following information :

The cum-duty price of the product is Rs. 5,94,984. It includes

sales tax @ 4% and excise duty @ 14% (plus 3% education

cess and SHES). [7]

Or

(A) What is Customs Duty ? Enumerate the brief history and objectives

of Custom Duty. [7]

(B) Explain the nature and importance of Custom Duty. [7]

4. Raj & Co. furnished the following expenditure incurred by them

and want you to find the assessable value for the purpose of paying

excise duty on captive consumption. Determine the cost of production

in terms of rule 8 of the Central Excise Valuation (Determination
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of Price of Excisable Goods) Rules, 2000 and as per CAS-4 (Cost

Accounting Standard)

(i) Direct material cost per unit inclusive of excise duty at 10%

Rs. 880.

(ii) Direct wages Rs. 250

(iii) Other direct expenses Rs. 100

(iv) Indirect materials Rs. 75

(v) Factory overheads Rs. 200

(vi) Administrative overhead (25% relating to production capacity)

Rs. 100

(vii) Selling and distribution expenses Rs. 150

(viii) Quality control Rs. 25

(ix) Sale of scrap realized Rs. 20

(x) Actual profit margin 15%. [14]

5. Write short notes on (any two) : [14]

(a) Assessable value

(b) Provisions in respect of concessions to SSI

(c) Provisions relating to customs valuations

(d) Distinction between Sales Tax and VAT.

6. Explain the provisions of payment of Service Tax and Returns. [10]
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(ii) loZ izðu vfuok;Z vkgsr-

1. ^dj* Eg.kts dk; rs lkaxwu djkps mÌsð; Li"V djk- ^izR;{k dj vkf.k vizR;{k

dj* Eg.kts dk; rs lkaxwu R;kaps Qk;ns&rksVs Li"V djk- [14]

2. ^mRiknu ðkqYd* (Excise Duty) Eg.kts dk; \ mRiknu ðkqYdkps fofo/k izdkj

Li"V djk- [14]

fdaok

[kk«h« ladYiuk Li"V djk % [14]

(i) oLrw

(ii) mRiknuðkqYdizkIr (Excisable) oLrw_

(iii) mRiknd

3. (v) v c d e;kZnhr daiuhus 25-3-2011 «k rhP;k 2 ðkk[kkae/kwu dkgh oLrq

fodY;k- ifgY;k ðkk[ksrh«] ,dw.k oLrqaph foÿh fdaer (fcÿh dj /k:u)

gh 65,61,252 #- vkgs- rj nqlÚ;k ðkk[ksrh« oLrwaph foÿh fdaer gh

1,07,09,712 #- vkgs- mRiknu ðkqYdkrwu 50% vkf.k foÿhdjkrwu 50% lo«r

ifgY;k ðkk[kss«k feˇk«h mRiknu ðkqYd nj 14.42% vkf.k foÿhdj 4% vkgs-

(nksUghgh nj gs lo«r feˇ.;kiwohZps vkgsr-)

ðkk[kk 1 vkf.k ðkk[kk 2 e/kwu foÿh ds«sY;k oLrawps dj vkdkj.kh ewY;

fuËkkZjhr djk- [7]
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(c) [kk«h« ekfgrhP;k vk/kkjs oLrwaps O;ogkj ewY; vkf.k R;kojh« ns; mRiknu

ðkqYd dk<k-

oLrwph flekðkqYd fdaer gh 5,94,984 #- brdh vkgs- ;ke/;s foÿhdj 4%

lekfo"V vkgs vkf.k mRiknu ðkqYd 14% (vf/kd 3% ðkk«s; vkf.k mPp

fðk{k.k vf/kHkkj) lekfo"V vkgs- [7]

fdaok

(v) ^lhekðkqYd* Eg.kts dk; \ lhekðkqYd njkpk bfrgkl vkf.k mÌsðk Li"V

djk- [7]

(c) ^lhekðkqYd* njkps Lo:i vkf.k egRo Li"V djk- [7]

4. [kk«h« [kpk±ph ekghrh jkt vkf.k daiuhus fn«s«h vkgs- R;k ekghrhP;k vk/kkjs R;kaP;k

mRiknukps ^ewY; fu/kkZj.k** (Assessable Value) d:u ^mRiknu ðkqYd* Bjok mRiknu

ifjO;; (Cost of Production) fu;e 8P;k vk/kkajs vkf.k ifjO;; izek.kdkP;k

vkËkkjs mRiknuðkqYd izkIr fdaer Bjok-

(i) izR;{k lkexzh ifjO;; izR;sd uxkekxs (10% mRiknu ðkqYd lghr) 880 # ;

(ii) izR;{k etqjh 250 #-

(iii) brj izR;{k [kpZ 100 #-

(iv) vizR;{k lkexzh 75 #-

(v) dkj[kkuk [kpZ 200 #-

(vi) izðkkldh; [kpZ (25% mRiknukðkh laca/khr) 100 #-

(vii) foÿh vkf.k forj.k [kpZ 150 #-

(viii) ntkZ fu;a=.k [kpZ 25 #-

(ix) eksM (Scrap) fodwu vk«s«h jDde 20 #-

(x) izR;{k u∂;kps izek.k 15%. [14]
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5. fVik nÓk (dks.krsgh nksu) % [14]

(v) ewY;fu/kkZj.k fdaer (Assessable Value)

(c) «?kqmnÓksxkauk ns.;kr ;s.kkÚ;k lo«rhaP;k rjrwnh

(d) lhekðkqYd fu/kkZj.kkP;k rjrwnh

(M) foÿh dj vkf.k ^ewY;of/kZr* dj (Value Added Tax—VAT) ;krh« Qjd

6. foÿhdj Hkj.;kaP;k rjrwnh (Payment Provisions) vkf.k foÿhdj ns; fooj.k

i= (Return) Hkj.;kP;k rjrwnh Li"V djk- [10]



P.T.O.

Total No. of Questions—6] [Total No. of Printed Pages—3
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T.Y. B.Com. EXAMINATION, 2011

CO-OPERATION AND RURAL DEVELOPMENT

Paper III

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define Consumer Co-operatives. Explain the need and objectives of

Consumer Co-operatives. [14]

2. Define Marketing Research. Explain the scope and steps involved

in Marketing Research. [14]

Or

What is meant by Co-operative Marketing ? Explain the advantages

and disadvantages of Co-operative Sugar Factory.

3. (A) Write a brief note on Poultry Co-operatives.

(B) Explain the scope of Marketing. [14]

Or

(A) Explain the factors influencing marketing strategy of

Co-operatives.

(B) Write a brief note on Agricultural Co-operative Processing.
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4. State in detail the functions and objectives of NAFED (National

Agricultural Co-operatives Marketing Federation of India). [14]

5. Answer the following questions (any two) : [14]

(1) Explain the strategy for Exporting Agricultural Produce.

(2) State the objectives of Agricultural Produce Market (Regulation)

Act, 1963.

(3) Describe the organisational structure of NAFED.

(4) State the importance of Marketing Strategy in Co-operatives.

6. Explain the problems of Agricultural Produce Market Committees. [10]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- xzkgd lgdkjh laLFksph O;k[;k lkaxk- xzkgd lgdkjh laLFksph xjt vkf.k frph mÌh"Vs

Li"V djk- [14]

2- forj.k laðkks/kukph O;k[;k lkaxk- forj.k laðkks/kukph O;kIrh vkf.k forj.k laðkks/kukr

lekfo"V gks.kkÚ;k ik;Ú;k Li"V djk- [14]

fdaok

lgdkjh forj.k Eg.kts dk; \ lgdkjh lk[kj dkj[kkU;kaps Qk;ns&rksVs Li"V djk-

3- (v) ^lgdkjh rRokojh« dqDdqVik«u* ;koj FkksMD;kr fVi f«gk-

(c) forj.kkph O;kIrh Li"V djk- [14]
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fdaok

(v) lgdkjh laLFkkP;k forj.k O;qgjpusoj izHkko Vkd.kkjs ?kVd Li"V djk-

(c) ^lgdkjh rRokojh« œf"k izfÿ;k laLFkk* ;koj FkksMD;kr fVi f«gk-

4- ^ukQsM (National Agricultural Co-operatives Marketing Federation of

India)ph* dk;sZ vkf.k mÌh"Vs lfoLrj lkaxk- [14]

5- [kk«h« izðukaph mŸkjs |k (dks.krsgh nksu) % [14]

(1) œf"k mRiknhr ek« fu;kZrhlkBh vl«s«h O;qgjpuk Li"V djk-

(2) 1963P;k œf"k mRiUu cktkj (fu;eukRed) dk;nÓkph mÌh"Vs lkaxk-

(3) ukQsMph la?kVukRed jpuk foðkn djk-

(4) lgdkjke/;s forj.k O;qgjpusps vl«s«s egRo lkaxk-

6- œf"k mRiUu cktkj lfeR;kaP;k leL;k Li"V djk- [10]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4+1
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T.Y. B.Com. EXAMINATION, 2011

COST AND WORKS ACCOUNTING

Paper III

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. (A) Fill in the blanks (any five) : [5]

(i) The objective of.................costing is to eliminate unhealthy

competition.

(ii) Target Cost = Anticipated selling price minus...................

profit.

(iii) ........................costing is a logical development of budgetary

control.

(iv) Cost audit is not.......................in all the industries in

India.

(v) Contribution minus profit = ................... .

(vi) A.....................contains a summary of all functional budgets.
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(B) State whether the following statements are True or False

(any five) : [5]

(i) When marginal costing technique is used, only variable

costs are charged to product.

(ii) Uniform costing increases labour turnover.

(iii) Target costing facilitates the cost control from the beginning.

(iv) Cost audit is the same as financial audit since books

of accounts are audited in the case of both.

(v) Standard costing is more widely applied in process and

engineering industries.

(vi) There is difference between forecast and budget.

2. Define uniform costing. Explain its advantages and limitations. [15]

Or

Define Inter-firm comparison. Explain its advantages and limitations.

3. Write short notes on (any three) : [15]

(a) Impact of Target Costing on Profitability

(b) Cost Accounting Standards

(c) Appointment of Cost Auditor

(d) Cost Audit Notes

(e) Cost Audit Programme.
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4. (A) KSMD Company Ltd. furnishes you the following information

of two years : [15]

Year Sales (`) Total Cost (`)

2009 8,10,000 7,88,400

2010 10,26,000 9,61,200

You are required to calculate :

(a) P/V Ratio

(b) Fixed Cost

(c) Break-Even Point

(d) Profit or loss when sales are ` 6,48,000

(e) Sales required to earn a profit of ` 1,08,000.

(B) Compute Material Cost Variance and Material Price Variance

for a output of 200 units from the information given below : [5]

Standard quantity = 3 kg. per unit

Standard price = ` 40 per kg.

Actual quantity consumed = 550 kg.

Actual price = ` 60 per kg.

5. (A) From the following information calculate : [10]

(i) Material Cost Variance

(ii) Material Price Variance

(iii) Material Usage Variance; and

(iv) Material Mix Variance.
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Material

Standard Mix Actual Mix

Quantity Rate per Total Quantity Rate per Total

(kg.) kg. (`) (`) (kg.) kg. (`) (`)

X 600 20 12,000 750 22 16,500

Y 400 10 4,000 300 08 2,400

1,000 16,000 1,050 18,900

(B) The standard labour force for manufacture a product ‘Good’

is as follows : [10]

Total Std. Total Std.

 Hours Cost (`)

20 unskilled workers @  ̀ 7 = 50

per hour for 50 hrs 1,000 7,500

10 skilled workers @ ` 12 = 50

per hour for 50 hrs 500 6,250

1,500 13,750

The actual labour force employed for the product ‘Good’ is

as follows :

Total Actual Total Actual

 Hours Cost (`)

22 unskilled workers @  ̀ 8

per hour for 50 hrs 1,100 8,800

8 skilled workers @ ` 12 per

hour for 50 hrs 400 4,800

1,500 13,600
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Calculate :

(i) Labour Cost Variance

(ii) Labour Rate Variance

(iii) Labour Efficiency Variance

(iv) Labour Mix Variance.

Or

The budgeted cost of a product is :

10 hours per unit at ` 5 per hour

The actual data for 1,000 units is :

Hours taken for production : 10,400

Idle Time            :  400

Total Time             10,800

Payment made ` 56,160 at ` 5 = 20 per hour.

Calculate :

(i) Labour Cost Variance

(ii) Labour Rate Variance

(iii) Labour Efficiency Variance

(iv) Idle Time Variance.



P.T.O.
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T.Y. B.Com. EXAMINATION, 2011

BUSINESS STATISTICS

Paper III

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical tables is allowed.

1. (A) Attempt any four of the following : [2 each]

(a) State the purpose of replacement problem.

(b) Determine whether there exists a saddle point in the

following two person zero sum game :

       

1 2

1

2

8 7

6 4

b b

a

a

− 
 
 
 − 

Player B

Player A
.

(c) Give any two real life situations from queuing theory.

(d) State whether each of the statement given below is

True or False :

(i) PERT is a probabilistic method.

(ii) X -chart and R-chart are used for attributes.



[3969]-322 2

(e) Explain the term ‘Pessimistic Time’.

(f) State the purpose of life table.

(B) Attempt any two of the following :

(a) Solve the game with the following pay-off matrix by

the principle of dominance : [6]

       

1 2 3

1

2

3

12 10 8

14 14 10

16 12 15

b b b

a

a

a

 
 
 
  

Player B

Player A
.

(b) Given the following pay-off matrix :

Strategies     States

N1 N2 N3 N4

S1 14 9 10 5

S2 11 10 8 7

S3 9 10 10 11

S4 8 10 11 13

Determine the optimal strategy under :

(i) Maximax

(ii) Maximin

(iii) Laplace criterion

(iv) Hurvitz criterion with coefficient of optimality 0.8.

[6]
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(c) Evaluate the following :

(i)
3(4 5)x dx+∫ [2]

(ii)
xx e dx∫ . [4]

2. Attempt any two of the following :

(a) The following data gives the average life (in hours) and the

range for 10 samples of 5 items each :

Sample No. X R

1 1080 420

2 1390 670

3 1460 180

4 1380 320

5 1090 70

6 1320 690

7 1370 950

8 1310 380

9 1630 1080

10 1230 580

Construct control charts for mean and range. Also comment

on whether the process seems to be under control.

(n = 5, A2 = 0.577, D3 = 0, D4 = 2.115) [8]
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(b) Fill in the blanks of the following life table which are marked

with the question marks : [8]

Age (x) lx dx qx px Lx Tx
0
xe

56 45129 ? ? ? ? 691411 ?

57 43739 — — — — ? ?

(c) At a certain petrol pump, customers arrive in a Poisson process

with an average time of 5 minutes between arrivals. The time

interval between services at the petrol pump follows exponential

distribution and mean service time permit is 2 minutes.

Find :

(i) What would be the expected average queue length ?

(ii) How long on an average a customer does wait in the

queue ?

(iii) What would be the average number of customers in

the queuing system ?

(iv) Probability that the customer get immediate service. [8]

3. Attempt any two from the following :

(a) (I) Explain the following terms :

(i) Opportunity loss

(ii) Decision tree. [4]
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(II) Explain the following terms :

(i) Project

(ii) Node

(iii) Queue discipline

(iv) Calling population. [4]

(b) The following table gives the activities in a project and other

relevant information :

Activities Duration

1—2 3

1—6 9

2—3 2

2—4 5

3—5 4

4—5 6

5—8 2

6—7 10

7—8 6

Find total float, free float, independent float for each activity.

Also obtain critical path. [8]
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(c) Bright Bakery keeps stock of a popular brand of cake, previous

experience indicates the daily demand as given below :

Daily Demand Probability

0 0.01

10 0.20

20 0.15

30 0.50

40 0.12

50 0.02

Consider the following sequence of random numbers :

    25, 39, 65, 76, 12, 05, 73, 89, 19, 49.

Using the sequence, simulate the demand for next 10 days.

Use Monte-Carlo simulation method. [8]

4. Attempt any two of the following :

(a) (I) Evaluate :

8

2

3

2

4 5

x
dx

x x

+

+ +∫ . [4]

(II) Compute :

2

3

0

I (1 )x dx= +∫

using Simpson’s 
1

3
 rule. Divide the interval [0, 2]

into 4 equal sub-intervals. [4]
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(b) A project consist of 7 activities whose time estimates are listed

below :

Activity

Time Estimates (Days)

Optimistic Most Likely Pessimistic

1—2 2 5 8

1—5 3 12 21

2—3 6 9 12

2—4 5 14 17

3—4 5 8 11

4—5 3 6 9

5—6 1 4 7

(i) Determine expected time estimates for all activities.

(ii) Determine the critical path and hence expected project

completion time.

(iii) What is the probability that the project will be

completed within 29 days ? [8]
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(c) (I) Ten samples each of size 50 of a pipe were inspected

in pressure testing. The results of the inspection are

given below :

Sample No. No. of Defective Items

1 2

2 3

3 2

4 0

5 2

6 3

7 2

8 1

9 2

10 3

Draw np-chart and state your conclusion. [4]

(II) In a certain production process, measurement on piston

rims gives USL = 74.05 mm, LSL = 73.95 mm and

σ = 0.0099 mm. Calculate process capability index. Interpret

the result. [4]
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5. Attempt any two of the following :

(a) An equipment which cost Rs. 15,000 has to be replaced with

a new equipment. Assume that ignore the time value of money

and inflation. The following data have been estimated :

Year Resale Value Maintenance Cost

(Rs.) (Rs.)

1 12,000 600

2 9,500 800

3 7,500 1,050

4 5,700 1,400

5 4,200 2,100

6 3,900 3,500

7 2,900 5,000

8 2,000 6,800

When should the machine be replaced ? [6]

(b) A wholesale distributor assigns probabilities to the demand for

an item as follows :

Items Demanded Probability

13 0.20

14 0.70

15 0.10
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A distributor purchase an item at Rs. 2 per item and sales

the same at Rs. 5. He also incure a loss of Rs. 2 for every

item which is not sold assuming no resale value. How many

items should the distributor purchase if his decision is based

on EMV criterion. [6]

(c) Evaluate :

10

2

0

I x dx= ∫

 by the trapezoidal rule. Divide the interval [0, 10] into 10

equal sub-intervals. [6]
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BUSINESS ENTREPRENEURSHIP

Paper III

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is ‘Organisational Behaviour’ ? Explain in detail scope and

historical roots of Organisational Behaviour. [14]

2. What is ‘Personality’ ? Explain the theories of personality. [14]

Or

Define the term ‘Leadership’. State the theories of Leadership. [14]

3. (A) Define the terms ‘group structure’ and ‘group dynamics’. [7]

(B) Explain the types of team. [7]

Or

(A) Explain the challenges of Indian Industrial leadership. [7]

(B) State the sources of stress. [7]
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4. What is ‘conflict management’ ? Explain the causes of conflicts. [14]

5. Write short notes on (any two) : [14]

(a) Causes of change

(b) Personality development

(c) Job enrichment

(d) Resistance to change.

6. Explain recent theories of motivation. [10]

(ejkBh :ikarj)

oš  % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k n”kZforkr-

1. l̂a?kVukRed orZ.kwd* Eg.kts dk; \ la?kVukRed orZukph O;kIrh vkf.k ,sfrgkfld lacaËk
lfoLrj Li"V djk- [14]

2. ^O;fDreRo* Eg.kts dk; \ O;fDreRokps flºkar Li"V djk- [14]

fdaok

usrR̀okph O;k[;k |k- usrR̀okps flºkar lkaxk- [14]

3. (v) l̂ewg jpuk* o l̂ewg xfrds* (Group Dynamics) ;k laKkP;k
O;k[;k |k- [7]

(c) la?kkps izdkj Li"V djk- [7]
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fdaok

(v) Hkkjrh; vkS|ksfxd usrR̀okph vkOgkus Li"V djk- [7]

(c) r̂k.kkps* lzksr lkaxk- [7]

4. l̂a?k"kZ O;oLFkkiu* Eg.kts dk; \ la?k"kkZph dkj.ks Li"V djk- [14]

5. FkksMD;kr fVik |k (dks.kR;kgh nksu) % [14]

(v) cn«kph dkj.ks

(c) O;fDreRo fodkl

(d) dk;Z le`ºh (Job enrichment)

(M) cn«kauk fojks/k-

6. vfHkizsj.kkps vk/kqfud flºkar Li"V djk- [10]
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MARKETING MANAGEMENT

Paper III

(Advertising Management)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define Advertising. Explain its nature, scope and functions. [14]

2. Explain the advertising role in modern business. [14]

Or

Explain the influence of positive emotional approaches. [14]

3. (A) Explain the importance of Advertising Layout. [7]

(B) What are the functions of Advertising Agency ? [7]

Or

(A) Explain in brief the rarious Media of Advertising. [7]

(B) What are the benefits of brand to sellers ? [7]

4. Explain ‘Women in Advertising Career’. [14]
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5. Write short notes on (any two) : [14]

(a) Rural Advertising

(b) Significance of Brands

(c) Future of Advertising Agency

(d) Advantages of Advertising.

6. Explain the concept of E-Advertising and state the advantages of

educational training in the field of Advertising. [10]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. tkfgjkrhph O;k[;k lkaxwu tkfgjkrhps Lo:i] O;kIrh vkf.k dk;sZ Li"V djk- [14]

2. vk/kqfud O;kikjkr tkfgjkr jpusps ?kVd Li"V djk- [14]

fdaok

gksdkjkRed Hkkofud n`"Vhdksukapk izHkko dlk iMrks \ [14]

3. (v) tkfgjkr jpusps egRo Li"V djk- [7]

(c) tkfgjkr ,tUlhph dk;sZ lkaxk- [7]
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fdaok

(v) tkfgjkrhph fofo/k ek/;es FkksMD;kr Li"V djk- [7]

(c) foÿsR;k«k fpUgkadukps dks.krs Qk;ns gksrkr \ [7]

4. ^tkfgjkr {ks=krh« efg«kaps LFkku* Li"V djk- [14]

5. FkksMD;kr Vhik f«gk (dks.kR;kgh nksu) % [14]

(i) xzkeh.k tkfgjkr

(ii) eqÊkadukps egRo

(iii) tkfgjkr ,tUlhps HkforO;

(iv) tkfgjkrhps egRo-

6. ^b&tkfgjkr* gh ladYiuk Li"V d:u tkfgjkr {ks=krh« izfðk{k.kkps Qk;ns lkaxk- [10]



P.T.O.
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[3969]-325

T.Y. B.Com. EXAMINATION, 2011

AGRICULTURE AND INDUSTRIAL ECONOMICS

Special Paper III

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain the progress, problems and prospects of Horticulture in India.

Suggest the measures to eliminate the problems of grape growers

in marketing. [14]

2. Explain the role of plant analysis and soil analysis in deciding the

irrigation method. [14]

Or

Explain the argument for and against agriculture income tax. [14]

3. (A) Explain the role of District Co-operative Banks in

agricultural credit. [7]

(B) Describe the main features of Industrial Policy, 1956. [7]

Or

(A) Explain the features and problems of Dairy Co-operatives

in India. [7]

(B) Explain the causes of regional industrial imbalance in

Maharashtra. [7]
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4. What is Multinational Corporation ? Explain the advantages and

disadvantages of MNCs in Indian economy. [14]

5. Write short notes on (any two) : [14]

(A) Small Farmers’ Development Agency

(B) Role of Govt. in ‘SEZ’

(C) Infrastructure Development and Private Investment

(D) Importance of Infrastructure in Economic Development.

6. Comment on recent disinvestment in India. [10]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. Hkkjrkrh« Qˇðksrhps izxrh] leL;k vkf.k HkforO; Li"V djk- Êk{k mRiknd ðksrdÚ;kaP;k
foi.kukrh« leL;k deh dj.;klkBh mik; lqpok- [14]

2. t«flapu iºrh fufðprhe/;s ouLirh vkf.k ekrh foð«s"k.kkph Hkqfedk Li"V
djk- [14]

fdaok

ðksrh mRiUu djkP;k cktwps vkf.k fo#º cktwps ;qDrhokn Li"V djk- [14]

3. (v) ðksrh iriqjoBÓkrh« ftYgk lgdkjh c°dkaph Hkqfedk Li"V djk- [7]

(c) vkS|ksfxd /kksj.k] 1956 ph eq[; oSfðk"VÓkaps o.kZu djk- [7]



[3969]-325 3 P.T.O.

fdaok

(v) Hkkjrkrh« nqX/k lgdkjh laLFkkaph oSfðk"Vs vkf.k leL;k Li"V djk- [7]

(c) egkjk"V™krh« izknsfðkd vkS|ksfxd vlarq«ukph dkj.ks Li"V djk- [7]

4. cgqjk"V™h; dEiuh Eg.kts dk; \ Hkkjrh; vFkZO;oLFksrh« cgqjk"V™h; dEi.;kaps Qk;ns&

rksVs Li"V djk- [14]

5. FkksMD;kr fVik f«gk (dks.kR;kgh nksu) % [14]

(1) «gku ðksrdjh fodkl izk/khdj.k

(2) foðks"k vkfFkZd {ks=krh« ljdkjph Hkqfedk

(3) ik;kHkwr lqfo/kk fodkl vkf.k [kktxh xqaro.kwd

(4) vkfFkZd fodklke/kh« ik;kHkwr lqfo/kkaps egRo-

6. Hkkjrkrh« vf«dMP;k dkˇkrh« fuxq±rqo.kqdhoj Hkk"; djk- [10]
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DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Paper III

(Defence Budgeting and Financial Management in India)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(1) Define Defence Management.

(2) Define Defence Budgeting.

(3) What do you mean by Economic System ?

(4) What is Public Good ?

(5) Write the meaning of Development.

(6) Define Macro-economy.

(7) Write any two functions of financial advisor.

(8) State the meaning of ‘Mobilisation of Resources’.

(9) Write any two methods of ‘War Finance’.

(10) What do you mean by strategic control ?

(11) Write any two challenges to Defence Management.

(12) Define ‘Deficit Finance’.

(13) Write the meaning of ‘Threat Potential’.

2. Answer in 50 words each (any two) : [10]

(1) Discuss control and need of Financial Management.

(2) Explain Defence Budget Structure.

(3) Write a note on the role of Financial Advisor in Defence

Services.

(4) Explain structure of Five Year Defence Plan.

P.T.O.
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3. Answer in 150 words each (any two) : [20]

(1) Explain features of India’s economic system.

(2) Write a note on the Economic Theories of Defence.

(3) Explain new trends in India’s Defence Expenditure.

(4) Discuss challenges to Financial System.

4. Answer in 300 words each (any two) : [30]

(1) Analyse India’s Defence Expenditure since 1998.

(2) Explain economic elements of War Potential.

(3) Discuss effects of war on Society.

(4) Explain the concept of ‘‘Defence and Development go side by

side’’.

(ejkBh :ikarj)
osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 20 ðkCnkar mŸkjs nÓk (dks.krsgh ngk) %  [20]

(1) laj{k.k O;oLFkkiu O;k[;k nÓk-

(2) fMQsUl ctsVhax O;k[;k nÓk-

(3) vkfFkZd iºrh Eg.kts dk; \

(4) iC«hd xqM Eg.kts dk; \

(5) fodklpk vFkZ f«gk-

(6) eWÿksbZdkWukehµO;k[;k |k-

(7) vkfFkZd lYykxkjkps nksu dk;sZ uewn djk-

(8) lk/kulaiŸkhph xfrekurk Eg.kts dk; \

(9) okWj Qk;ukUlP;k nksu iºrh uewn djk-

(10) lkefjd fu;a=.k Eg.kts dk; \

(11) laj{k.k O;oLFkkiukph nksu vkOgkus uewn djk-

(12) fMQhflV Qk;ukUlµO;k[;k nÓk-

(13) ^FkzhV iksVWufðk«*µvFkZ f«gk-
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2. izR;sdh 50 ðkCnkar mŸkjs nÓk (dks.krsgh nksu) % [10]

(1) vkfFkZd O;oLFkkiukph vkoð;drk o fu;a=.k ppkZ djk-

(2) laj{k.k vankti=dkph jpuk Li"V djk-

(3) fMQsUl lohZlsle/kh« vkfFkZd lYykxkjkph Hkwfedk ;koj fVi.k f«gk-

(4) laj{k.kkpk iapokf"kZd ;kstusph jpuk Li"V djk-

3. izR;sdh 150 ðkCnkar mŸkjs nÓk (dks.krsgh nksu) % [20]

(1) HkkjrkP;k vkfFkZd O;oLFksps xq.k/keZ Li"V djk-

(2) laj{k.kkps fofo/k vkfFkZd flºkUr ;koj fVi.k f«gk-

(3) HkkjrkP;k laj{k.k [kpkZrh« uohu Vs™UM~l Li"V djk-

(4) fofŸk; (QkbuWfUl;«) flLVheP;k pWˇsatslckcr ppkZ djk-

4. izR;sdh 300 ðkCnkar mŸkjs nÓk (dks.krsgh nksu) % [30]

(1) 1998 iklquP;k HkkjrkP;k laj{k.k [kpkZps foð«s"k.k djk-

(2) ;qº{kersps vkfFkZd ?kVd Li"V djk-

(3) ;qºkps lektkoj gks.kkÚ;k ifj.kkekckcr ppkZ djk-

(4) ^^laj{k.k vkf.k fodkl ,dkp oš sl pkˇ.kkÚ;k izÿh;k vkgsr-** gh ladYiuk

Li"V djk-
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INSURANCE, TRANSPORT AND TOURISM
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define tourism. Distinguish between tourism in India and tourism

in other countries. [14]

2. What do you know about PATA (Pacific Air Travel Association) ?

Evaluate the working of PATA.

Or

What is International tour ? Explain the essential documents for

International tour. [14]

3. (A) Write a brief note on Tour-planning.

(B) Explain the role of Embassy in International Tour.

Or

(A) Write a note on Tourist-Accommodation.

(B) Explain the role of Travel Agent in Tourism Business. [14]
P.T.O.
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4. Enumerate the functions and working of WTO (World Tourism

Organization). [14]

5. Answer the following questions (any two) :

(1) State the significance of Communication skill in Tourism Business.

(2) Write a brief note on Tourism in Hong Kong.

(3) Explain the need of motivation for development of Tourism.

(4) State the essentials of marketing of Group Tours. [14]

6. What are the facilities available for International Tourist in Gulf

and Dubai ? [10]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. ^i;ZVukph* O;k[;k lkaxk- Hkkjrkrh« i;ZVu vkf.k brj nsðkkrh« i;ZVu ;krh« Qjd

foðkn djk- [14]

2. ^iWlsfQd gokbZ ;k=k eaMˇ* (PATA) ;kcÌ« vki.k dk; tk.krk \ iWlsfQd gokbZ

;k=k eaMˇhph dkefxjh foðkn djk-

fdaok

vkarjjk"V™h; ;k=k Eg.kts dk; \ vkarjjk"V™h; ;k=slkBh (izoklklkBh) vkoð;d

vl«s«h nLr,sots (dkxni=s) Li"V djk- [14]
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3. (v) ^;k=k&fu;kstu* ;koj FkksMD;kr fVi f«gk-

(c) vkarjjk"V™h; ;k=sr@izoklkr odh«krph (Embassy) Hkwfedk Li"V djk-

fdaok

(v) ^i;ZVd&fuoklO;oLFkk* ;koj fVi f«gk-

(c) i;ZVu&O;olk;kr ;k=k&izfrfu/khph Hkwfedk Li"V djk- [14]

4. tkxfrd i;ZVu la?kVusph (World Tourism Organisation) dk;sZ vkf.k dkefxjh

foðkn djk- [14]

5. [kk«h« izðukaph mŸkjs |k (dks.krsgh nksu) % [14]

(1) i;ZVu&O;olk;kr laHkk"k.k&dkSðkY;sps egRo lkaxk-

(2) ^gk°x&dk°x e/kh« i;ZVu* ;koj FkksMD;kr fVi f«gk-

(3) i;ZVu&fodklklkBh izksRlkgkukph xjt Li"V djk-

(4) xzqi&;k=k forj.;kP;k vkoð;d ckch lkaxk-

6. ^vk[kkrh nsðk vkf.k nqcbZ* e/;s vkarjjk"V™h;&i;ZVdklkaBh dks.kR;k lqfo/kk mi«C/k vkgsr \ [10]
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T.Y. B.Com. EXAMINATION, 2011

COMPUTER APPLICATION

Paper III

(MIS, Software Engineering and Enterprise Resource Planning)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Neat diagrams must be drawn wherever necessary.

1. (A) Attempt any four of the following : [8]

(i) Define MIS.

(ii) What is system ? State its characteristics.

(iii) What is Software Engineering ?

(iv) What is feasibility study ?

(v) What do you mean by ERP ?

(B) Attempt any two of the following : [8]

(i) Explain any four McCall’s Quality factors.
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(ii) Differentiate between physical and logical DFD.

(iii) Explain the concept of Business Process Re-engineering

in detail.

2. Attempt any four of the following : [16]

(i) Discuss on benefits of the ERP.

(ii) Write a note on Waterfall Model.

(iii) What are the various objectives and principles of testing ?

(iv) Explain the Information and Knowledge Concept.

(v) Explain the ISO Standards in detail.

3. Attempt any four of the following : [16]

(i) Explain the System Requirement Specification.

(ii) Explain Different types of System.

(iii) Explain Input Design with example.

(iv) Differentiate between MIS and BPR.

(v) Explain different types of System maintenance.

4. Attempt any four of the following : [16]

(i) Explain different methods of Data and Information Collection.

(ii) Explain fact finding techniques in detail.
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(iii) Write a note on Customer Relationship Management (CRM).

(iv) Explain SDLC in detail.

(v) Explain different types of testing.

5. Attempt any four of the following : [16]

(i) Explain the role of MIS.

(ii) Discuss the concept decision table in detail.

(iii) Write a note on CMM Level.

(iv) Explain the role of System analysis.

(v) Write a note on Entity Relationship Diagram.



P.T.O.
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T.Y. B.Com. EXAMINATION, 2011

COMPUTER APPLICATION—V

(Vocational Course—V)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and attempt any five from

the remaining questions.

(ii) Draw neat and labelled diagrams wherever necessary.

1. What is Network ? Explain different types of network topologies. [10]

2. Explain in brief the following with syntax and example : [6]

(a) Unorderd List

(b) Ordered List.

3. What is E-commerce ? Explain types of E-commerce. [6]

4. Explain the following with examples : [6]

(a) Events in Java Script

(b) For loop in VB Script.
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5. Explain in brief the following with examples : [6]

(a) Table tag

(b) Inserting image in HTML page.

6. Explain the following : [6]

(a) Web browser

(a) E-commerce.

7. Write short note on : External linking and Internal linking. [6]



P.T.O.
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TAX PROCEDURE AND PRACTICES
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Paper V

(Customs Act)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(i) What is ‘Board’ under Customs Act ?

(ii) Explain ‘Coastal Goods’ under Customs Act.

(iii) What are the objects of W.T.O. ?

(iv) Who has to prepare ‘Export-Manifest’ ?

(v) What is meant by ‘Customs Station’ ?

(vi) What is ‘Boat Note’ ?

(vii) Explain ‘Assessable Value’ under Customs Act.

2. Answer in 50 words each (any two) : [8]

(i) Explain the nature and incidence of duty under Customs

Act.

(ii) Discuss the different allowances provided under Baggage Rules.
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(iii) Discuss procedure for fixation of drawback rates under Duty

Drawback Rules.

(iv) What are the objectives or purposes of prohibition on import

or export of goods ?

3. Answer in 150 words each (any three) : [15]

(i) Enumerate the costs which are to be added or deducted

from the invoice-price for determining assessable value.

(ii) Explain classes of officers of customs. How are they

appointed ?

(iii) Discuss additional duties under Customs Tariff Act. When

is additional duty called CVD ? What are its objects ?

(iv) What is meant by Territorial Waters, Customs Waters and

‘Economical Zones’ ?

(v) Enumerate differences between Customs duty and Central

Excise duty.

4. Write answer in 300 words (any one) : [7]

(i) State and summarise the provisions and procedure under

Customs Act, governing preparation and submission of Bill

of Entry for various purposes.

(ii) What is meant by valuation of goods ? How is the assessable

value determined under the Customs Act ?
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ENTREPRENEURSHIP DEVELOPMENT

(Common to Computer Application, Advertisement, Sales

Promotion Sales Management)

Paper VI B (Vocational)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain in brief characteristics of an entrepreneur. [10]

Or

Narrate the merits and limitations of sole proprietorship form of

business organization.

2. Explain briefly sources of ideas to start new business. [10]

Or

What are the functions of M.I.D.C. ?

3. What do you mean by ‘Marketing Management’ ? Highlight its

importance. [10]

Or

Define the term ‘Human Resource Management’. What is its

importance ?

P.T.O.
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4. Write short notes on (any two) : [10]

(a) Market survey

(b) SWOT analysis

(c) Marketing channels

(d) Stress Management.
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TAX PROCEDURE AND PRACTICES

(Vocational Course)

Paper VI

(Entrepreneurship Development and Project Report)

(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(i) What are the main objectives of study of entrepreneurship ?

(ii) Define entrepreneurship.

(iii) Who is an entrepreneur ?

(iv) What are different forms of ownership ?

(v) Which are the basic qualities of an entrepreneur ?

(vi) State the importance of entrepreneurial development process ?

(vii) What is job satisfaction and job specification ?

2. Answer in 50 words each (any two) : [8]

(a) State the importance of job description ?

(b) Write a note on “Specialities of Private Sector” ?

(c) Define “Joint Stock Company”. Describe its salient features.

(d) What do you understand by “Marketing Mix” ?
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3. Answer in 150 words each (any three) : [15]

(i) Write down the main characteristics of an entrepreneur ?

(ii) What is the difference between an entrepreneur and a

manager ?

(iii) Write a note on “A Single Owner Firm” ?

(iv) Write a note on Memorandum of Association ?

(v) What challenges are to be faced by an entrepreneur ?

4. Answer in 500 words (any one) : [7]

(a) Discuss in detail the nature, scope, importance and

development of entrepreneurship in Modern India.

(b) State the various resources required for any business

activities ? Explain in brief each of them.
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ECONOMICS

(International Economics)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. State and explain the Ricardian theory of Comparative Cost

Advantage. [16]

2. What is terms of trade ? Explain the factors determining terms

of trade. [16]

Or

Explain in detail the arguments for and against free trade

policy. [16]

3. (A) Define Balance of Payments. State the causes of

disequilibrium in the balance of payments [8]

(B) Explain the role of Multinational Corporations. [8]
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Or

(A) State the merits of fixed exchange rate. [8]

(B) Explain the structure of foreign exchange market. [8]

4. Critically examine the Purchasing Power Parity Theory. [16]

5. Write short notes on any two : [16]

(A) South Asian Association for Regional Cooperation (SAARC).

(B) International Trade and Economic Growth.

(C) Features of India’s Foreign Trade since 1991.

(D) Convertibility of Rupee.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk ikgk-

1. fjdkMksZ ;kapk rq«ukRed O;; «kHk flºkar lkaxk o Li"V djk- [16]

2. O;kikj ðkrhZ Eg.kts dk; \ O;kikj ðkrhZ Bjo.kkjs ?kVd foðkn djk- [16]

fdaok

eqDr O;kikj /kksj.kkP;k cktqus vkf.k fojks/kh ;qDrhokn lfoLrj Li"V djk- [16]
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3. (v) O;ogkjrks«kph O;k[;k |k- O;ogkjrks«krh« vlarw«ukph dkj.ks foðkn djk- [8]

(c) cgqjk"V™h; egkeaMˇkph Hkwfedk Li"V djk- [8]

fdaok

(v) fLFkj fouhe; njkps xq.k lkaxk- [8]

(c) ijfd; fouhe; cktkjkps Lo:i Li"V djk- [8]

4. [kjsnh ðkDrh lerk flºkarkps fVdkRed ifj{k.k djk- [16]

5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr fVik f«gk % [16]

(v) izknsfðkd lgdk;kZlkBh nf{k.k vkf'k;kbZ la?kVuk (lkdZ)

(c) vkarjjk"V™h; O;kikj vkf.k vkfFkZd o`ºh

(d) 1991 uarjP;k HkkjrkP;k fonsðkh O;kikjkph oSfðk"Vs

(M) #i;kph ifjorZfu;rk-


